AFN-1348 BCO231

B.Com. DEGREE EXAMINATION, APRIL 2011

Second Semester

Commerce

ECONOMIC DEVELOPMENT OF INDIA

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

Section A (8x4=32)

Answer any eight questions.

1. Define Economic Development.

Qur@enng Ty (PerGemmLd euenTuimi.

2. What is Capitalist Economy?

s eomeflsgien CILINBETISITLD 6T6SMHTED 6TE5TENT ?

3.  What are the sources of Irrigation?

BrlLnFeS S 6 pLpevmIS 6T Wnene ?



Define Human Resource Index.

werflg euem GBI - euemTWIm).

State the need for Foreign Capital.

QeusfiBT_ () epevssesslen CoHemelenwt &nmis.

What is national income?

Cadlw eu(mLONeD 6T63TM M6V 6T6TENT ?

Differentiate between Absolute poverty and Relative

Poverty.

EUTDLIMD 6UMIEHLDEGLD FMTLIETEN UM enL& & SenL_Cuwi

Camu® 5a15.

What is Productivity?

2 Husd) Smevt eTerTm M6 6T6TTENT ?
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10.

11.

12.

13.

Write a note on Agricultural Labour.

Geusnnevsremio Glgmifleomsmy LMYl GMNILIL 6T(LpG1s.

Give the objective of Planning.

S L 10 sedest CrrsamisHensT &(hHs.

Write about Community Development Programme.

gupanw (perGerpm SlL_b uns) 6T(LpSs.

Explain the concept of Food Security.

2 _ewvTell LITGISMLIL &(HSHenS 636 @Hs.

Section B (83x12=36)
Answer any three questions.

Explain the features of Indian Economy.

@ndHwuls Qunmemtarrsdlen ApLifweoLsener ell6nd @s.
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14.

15.

16.

17.

What are the merits and demerits of Mixed Economy?

seuLiL CQLNBeMTEHTTSS 68T HEsTENLD HEOLOSET Wieme ?

Discuss the consequences of Population Explosion on

economic development of India.

@ndlwnellen QunmeTigny (WerGemMId WeHTewT &6l
Qgrema Cleuiglifen eSlememeysenst elleundlss.

Bring out the difficulties in the calculation of National

income.

Coflw eaumeaurllenw sewadlBeudled 2 6men

rsdlensuisenet Gleusfls Glaremrys.

Suggest the measures of raising the agricultural

productivity in India.

@B Hwnelleo G 6w 617 m 6T 2 Husdl & m 6o 6v1
FaflLugnsnes euldl(LPenmnsens auLpEIEHs.
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18.

19.

20.

Briefly discuss about the agricultural development in

the Eleventh five year plan.

1leug mhgrev S LsreosdHler Gestresnr euemissd

umnl &mHms eNleund.

Section C (2x16=32)

Answer any two questions.

Describe the state of economy during colonial period.

sneverll g Hl&s aregdleo Clunmennanrsslen Hleneoenu
aeul.

Discuss the trend of savings and capital formation in

the Indian economy.

@ndw Curmenngrrsdleo Callly wHMIL epevG e
2p5a5S e CLTsens eleundlss.
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21.

22.

Give a detailed account on Green Revolution.

ugemwl rldumnl el fleurer ellenssd &@ms.

Explain the role of FCI in the distribution of food.

2 ewiey auPRIGadler QrHw 2 ewiey SYsHsSS e

LkiSlenert 6Sl6ms @s.

skkok
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AFN-1349 BCO0232

B.Com. DEGREE EXAMINATION, APRIL 2011

Second Semester

Commerce

MARKETING

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

Part A (8x4=32)
Answer any eight questions.

All question carry equal marks.

1. Explain the term “Social Marketing”?

“ops HanGUl(DB60” 6T6ITMTEL 6T6sTENT ?

2. Explain, “Well brought in half-sold”.

“Bevev Olamem(geo Lnd) edlpLienes” - eflens @

3. What is meant by “Customer orientation”?

“BlaTCeurenys njnHg)” - 6T165INT6D 6T65T6w ?



Explain the “Significance of Marketing”.

ghenaul DseS 6 (PSHWS G eus5eng ell6ns@He ?

What is an advertisement Agency?

N6 LIT (LPSH6EWLD 6T6TTM M6V 6T60T6uT ?

What are the objectives of Advertising?

elembLrsSlest CrISsmIS6T Wreneu ?

Differentiate between Marketing and Selling.

ghenguil(Hgeo wHnIbw elpueness @b 2 sTem Coumiim(

wmemeu ?

What is the factors influencing to Pricing?

aemeoull(Hgedlev 2 6mmem (PaHlw srremilaer wreneu ?
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10.

11.

12.

13.

What is PLC?

QILIM(B6TT U6 &HLPMHE] 6TEIIMTEL 6T6TTEDT ?

What is Indoor Advertising?

2 _6116m& e 6MDLITLD 6T65TMMED 6T63T6HT ?

Distiguish between Goods and Services?

U EHsE L Caeneus @ 2 emen GeumiLIMH\&eT wWreneu ?

What is modern ‘Marketing concept’?

welies ehenaul (D60 CarlLin(&er wreneu ?

Part B (3x12=36)
Answer any three questions.

What are the importance features of an Advertisment

copy?

elembLy maeSlen (P&HFH WG eusSens edleufl ?
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14.

15.

16.

17.

18.

Explain the functions of Marketing?

ueoGeumy Fhengulwed Lienflaener efeufl ?

Explain the significance of Marketing Mise?

Fhengs seveneauuller (PsH WS eugens efleurl ?

Discuss the commodity approache to the study of

marketing?

186 Crrés peomullenss efleurl ?

Narrate briefly the criticisms of the Modern

Advertising?

FD&Tev eNlembLrsSlen eSlwjaesmgener efleufl.

Explain the sales man born or made? Discuss.

apuepemwneny WPLINCoCw eu@EDITT 60605
2 (HeunasLL@Eomyr? eSeufl.
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19.

20.

21.

22.

Part C (2x16=32)
Answer any two questions.

Explain the duties and responsibilities of Sales man?

elpuenewinenilen &L_enwaemenu|n ClummLiL|senerund

eSleufl ?

Advertising brings long-term benefits by sales

promotion is for quicker results - Discuss.
lemburd Bewr &m0 LevesTEHemenw|d ML 66w

QUMBLSEMETLLD HL_61IqHENSBET 2_L_6UTlq LIEVESISHENEIILLD

F(hHSlesrmert - elend @ s.

Explain the various kinds of pricy methods?

elemev HljewsTwib GlFUIgeSlev 2 6o LiIGaum) aemasemen

aleuffl.

“Marketing brings and ends with consumer—Disccuss

ghensul(HiFe0 TLLPLWD, (Pige b BIsTGCeurGr. - eleufl.

sk
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AFN-1350 BCO2M3/BCC2M3

B.Com./B.Com (C.A.) DEGREE EXAMINATION
APRIL 2011

Second Semester

Commerce/Commerce with Computer Applications

ADVANCED ACCOUNTANCY-II

(Non-CBCS—2004 onwards)
[Common for B.Com and B.Com (C.A)]

Time : 3 Hours Maximum : 100 Marks

Section A (8 x4 =32)

Answer any eight questions.

1. Define Bills of Exchange.

LIHNIE FL_(DSS6T eUenTuimI.

2. Whatis Renewal of a Bill ?

wIHNIEFL_ oL LgILILNSS60 eTesTmmeD eT6ste ?

3. Whatis ‘Red ink interest’ ?

Fleuliy emw auLlg 6T6aTMTEL 6T65T6E ?



What is abnormal Loss ?

SIEMHMTESVT [HL_L_LD 6T6ITMMT6D 6T6TTET 2

Define “Joint Venture”.

“Beneutt elemest” euenTLIM).

What are the advantages of self balancing ledgers ?

sevienens H1Gen Fflaas_ (b CuCr(hsefles mesemaer

wmremeu ?

From the following particulars, calculate profit :

Rs.
Opening capital — 14,000
Closing capital — 30,000
Drawings — 10,000
Additional capital — 6,000
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SpsaenL alurnseafled(Bhg Qeorusans seured(H s.

erb.
SLTIDLI (LPS60 — 14,000
s e — 30,000
T (LI S &6 — 10,000
Fg(zeo (e — 6,000

Arun consigned 2000 tonnes of coal @ Rs.50 per tonnes
to Balu of Chennai. He paid Rs. 20,000 as freight. Due
to normal loss only 1950 tonnes were received by Balu.
He also paid Rs. 5,000 as unloading and Cartage
charges. The unsold stock is 650 tonnes. You are

required to calculate the value of closing stock.

(vt ClFestemestulleDi6TTer LIMEY) 6T6vTLIG (&) 2000 L_6v1as6iT
Blevsafl, e Lt eh. 50 eIz e iiHOFwLSTT. Sj6uf
¢h. 20,000 euesriiq& #5510 ClFe)Sdlevtni. FngmrewT HLL LD
apulLgreo ume 1950 Lensem L HGCw ClummTE.
@b eh. 5,000 @m&E nell WLHMID 66TTIq &8 60
Ceg)sSlevtny. 650 Lesiaen eNM&ETFTsHE, 2 6meng). eNlma

grsdlent wSllienL sewTES (D).
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10.

How will you calculate Average Due Date ?

grnafl H6.enewT HTewen sTeuaUNm) Hevstadl(Deumis ?

Prepare Total Debtors Account from the following :

Opening Balance of Debtors
Cash received from Debtors
Credit sales

Closing Balance of Debtors

L9) 637 611 (1 611 60T 61 D ] 6S) (1 I &l

SH6UBTEHS D61 SWMFlS &6 LD.

sL_evnerflae gy L @@Ll

aL_evtnerfl&erfl L0 (B &)
Qupm GlFT&sLD

&L_651 6D LI6w 6vT

sLnenneflseflest @mid @ mLiy

Quwrgs

Rs.
73,000
1,00,000
1,25,000

98,000

& L_evTmertl & 61

73,000

1,00,000
1,25,000

98,000
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From the following prepare purchases ledger

Adjustment Account :

Rs.
Sundry Creditors on 1.1.2010 — 3,100
Sundry Creditors on 31.12.2010 — 5,000
Credit purchases — 10,000
Cash paid to creditors — 15,000
Outward returns — 500

Wemeuheuemmeumnlel (g Oamempgser GCuCGrli@®

FNEHSHLL_60 SH6vT6H6mS HWITF&HES.

erb.
upuev sLesfibCapmy-1.1.2010 60 — 3,100
upue sLefbCam-31.12.2010 60  — 5,000
SL_6010\ &6 (L &H60 — 10,000
sLesfECaH 6@ OFeSHwg) — 15,000
Qeueflg S mLiLib — 500
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12.

13.

Distinguish between Consignment and Joint venture.

SAUSTH wLHMHL Qevewrelenem B revvTenLwb
Camu® 5815.

Section B (3 x12 =36)

Answer any three questions.

On 1st January, 2004, Amutha draws a bill on Bavana
at four months for Rs. 1,000 and Bavana draws on
Amutha for similar amount and term. Both the bills
are accepted and discounted at 6% p.a. Amutha meets
his own acceptance at maturity lent Bavana’s
acceptance is dishonoured. Bavana then accepts new
bill at three months for the amount due by him plus
interest at 8 % p.a. which is duly met at maturity.

Prepare journal entries in the Books of both the parties.

meneufl 1, 2004-60 ST, LTeuennellen 158 6
wIHNIEF_emL ¢h. 1,0008@ 4 OIFEISEHSE UNTHST].

uneuenn 9Gg Clgmems WOHMID STVSSHDE (I IHDIE
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14.

FlenL auemrhgy. Qrewt(h LIHNIFSL (DNSSEHLD THNIS
QamererliLl_ (B eTD&HE 6 #56I555D©E SemEmLiy
Qelwlul L gl. ST SeenenL_w WIHNFS L
wdiey Codluled LemTLOFNSS WL L. yesmed
ureuestiedlest wWIHMIESF_(H LewwTd ClF)FHSHLILL MDD
LNHISSUIUL L G. utelent wHeIpT@m LIHNES_ L
Qarh&sGealeutriqws LIGTD WOHMIWD 8% 6L iqu|L 63T elg.ul
Qgrenas@ 3 ISSINE STHMISCSTETTLIT. SbSLIHNIE
FLOwSrey Cadlulled Liewrd Clee)SHLLL L g).

Kumar, a partner in a firm has drawn the following

amounts for the half year ended 30th June 1992.

Jan. 8 — Rs. 440. Apr. 10 — Rs. 480.
Feb. 12 — Rs. 400. May. 6 — Rs. 400.
Mar. 15 - Rs. 500. Jun. 8 — Rs. 400.

Interest is charged at 10 % p.a. Ascertain average due

date and the amount of interest.
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15.

&WwIT, @@ Hneier s Lrafl Spsseri Cgrengsenen

ofeor 30, 1992 2 L 6T (Plg6UEDL LD 60 U T6TUTLq 60

OSSN

soemreufl 8 — em. 440. ertireo 10 — em. 480.
ireufl 12 — em. 400. Guo 6 — em. 400.
wrié 15 — em. 500. oSeom 8 — e 400.

aullly 10% (ge(sE) sewsdllulLg.
grreflsseuenemt HBIememTu|d, 6L lqS 0l Tensenw wjw

&6se1(pLY1q.85:5.

Mohamed sent 10 cars to Nasar on consignment. The

cost of each car was Rs. 6,00,000.

The expenses of Mohamed are :

Rs.
Freight - 7,000
Insurance — 3,000

During transit, 1 car was destroyed and the insurance

company paid Rs. 45,000 towards the claim.
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Nasar sold 7 cars at Rs. 7,50,000 each, and he paid for
unloading and insurance Rs. 3,300. He sent Rs. 4,50,000
by drafts. It was agreed that Nasar is toget 5%

commission. Prepare ledger in the Books of Mohamed.

(PBWLF, BTE] eTeTUaHSE 10 asrisenen e UiH
Qawigny. eeubleunm s eh. 6,00,000 &8 elenev.

(P3G SP&seuTL ClFeve|sHene ClawLgTT] :

er.
auewtigFFssw — 7,000
Y NIRCY - 3,000

Cang@eaursglev 1 sy CeswenL_bsgl, IS 6 Hlnieeo
eh. 45,000 &g (Ns0gemawns Qarss58) .

BI&T 7 Sni&eT eeubleumenmib em. 7,50,000 eigb elpmy.
Cueib Ui @n&@ Fedl wHmIb srUSH&aTs eb.
3,300 GleanisSlevtmi. j6uif em. 4,50,000 euemy Geoemev ppevld
SiLeny. Brey 5% sifley CUNIEUSTS 2 L 6sTLiG SHens
Qewwliul L g. waswgeler ghaafleo CLCTLB&

B6ETTI5(&HFHEN6M SHWIMFlSHS.
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16.

X and Y entered into a joint venture for purchase and
sale of some house hold items. They agreed to share
profit and losses in the ratio of their respective
contribution. X contribute Rs. 10,000 in cash and Y
Rs. 13,000. The whole amount was placed in a joint bank
account. Goods were purchased by X for Rs. 10,000 and
expenses paid by Y Rs. 2,000. They also purchased
goods for Rs. 15,000 through joint Bank Account. The
expenses on purchase and sale of the goods amounted
of Rs. 6,000 (including those met by Y) Goods costing
Rs. 20,000 were sold for Rs. 45,000 and the balance was

lost by fire.

Prepare Joint Venture Account, Joint Bank account

and ventures accounts closing the venture.

X opmin Y wm Denewt ellenemuiled 65 2 uGwnsl
QurmLseT NiHLSHSTS FEHILILL6TT. jeuTssT Geomuid
IIVVG BLL Fe0g Shiserfles eflss Clanens ellflggdleo
WS &0 &neTen 2 L etulLewry. X em. 10,000 b ;
Y em. 13,000 1b Qleepigdlenty. (W (pSolsTensu|b 6 Benewst
aundl sevsdler Cessliul L g. X ep. 10,000 &@E
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17.

18 @s6m eummdlenny. Y em. 2,000 Qgeveueflggny. 8 enesor
eui gl ppeold erh. 15,000 &@) F7d@HS6 eunmiSlest 58 @ a6
aursiseilns Claevey em. 6,000 (Y eflsgmaw|n Carsg)
. 20,000 wdlliyeten #rd@ em. 45,000 &@ elhuenew
Qewwliul’ L g). erepSflw #r& @ SWilesneo CagwenL_HSHg).

Benemrellenes sHevuisE, Qemewt cumidl HewIs@ LHMID
B ememellemenmwneniseflenn &ewrs @senen 6l emevtem wi

Y953 SWflés.

Following balances are extracted from the books of
Joseph, who keeps his records incomplete.

1.1.2006  31.12.2006

Rs. Rs.
Stock 2,400 3,000
Debtors 4,000 3,200
Creditors 1,700 3,900
Cash in hand 2,000 3,800
Bank O/D 2,400 —
Furniture and Fittings 800 1,000
Motor Bike 9,500 9,500
B/R 2,000 4,300
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Drawings during the year amounted to Rs. 2,800.
Depreciate Furniture and Fittings @ 5% and write off
Rs. 500 on motor Bike. Rs. 100 is irrecoverable and a
further provisions of 5% for Doubtful Debts are to be
provided. Further a provision of Rs. 200 in respect of

bills are also to be provided.

Ascertain the profit or loss for the year ended 31st
December 2006.

SpsesewL @ muyser Cxrelllen @ aerfled kg
g@sasuUlL g el Heopeylumng Iemm@enmn
eNlurrisenen eneusSE([HHST].

1.1.2006  31.12.2006

erp. erp.
U158 2,400 3,000
&L_evtmerflg 6 4,000 3,200
sLevithCa iy 1,700 3,900
eaul(mHLiLy ClrT&sLD 2,000 3,800
uiiSlGoev euemyLDHM) 2,400 —
LD6W 6515 60688TL1 Gl LIT(TH L8617 800 1,000
CurlLrienus 9,500 9,500
CQuMIsHE AW WwIHnIFS_H 2,000 4,300
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IABS 6oTIq60 T(HLILSem ¢h. 2,800 Lb6w 6wt 6m 6T
Qun@Lsser 158 5% b CurlLry enusdles g em. 500 b
Cauwiwnerd e1(pgs. ¢h. 100 aurrssLem wHMIDL 5%
DWSHL60 SN 815HEGHS. Ce)d wImmFF qer g
¢h. 200 &168MH 1w GlewwliLL Geuss(Hb.

31.12.2006 60 (plgeuenL_ujd I eT(HSHTeT B e0mLid

606G KL L Glenert sevvr(Lilly.

18. From the following particulars write up necessary
adjustment accounts as they would appear in the

General Ledger.

Rs. Rs.

Debtors Ledger Balance 49,850 Discount allowed

Creditors Balance 28,010 by the business 1,500
Credit Sales 40,400 Return Inwards 1,795
Cash Sales 18,080 Return Outwards 2,240
Cash Purchases 27,600 B/P accepted 5,300
Credit Purchases 15,930 B/R Received 3,500
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Rs. Rs.

Creditors paid off 26,500 Interest for

Received from dishonoured bill 20
Debtors 44,100 Allowances 1,605
Discount allowed Bad debts 1,495
to the business 1,450 Transfer from

Debtors ledger
to creditors ledger 400

SpsasevL alurrmiselelmbg CurgyLCUGTL1q60

Caemeuwiner &flaaL_L 60 H6w015@HSH06T SWTfl&Hs.
. .

sLenmeflaem mLiy 49,850  euemflaid oyeflgs sememLLg 1,500

sLestbGamy @miy 28,010 2 enFmLiLid 1,795
SL6w ehLienes 40,400 Qeueflg SmLin 2,240
Clyrés efmLenes 18,080 QeussHEMW LIHDNIE

Clyras Clanem(pge 27,600 &0 apmisamsteriuLg 5,300
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.

BL6w Cl&MeT(Lp&ed 15,930
sLafbCHIBES

AENEE NS 26,500
sLenmeflaerflL18lmbs)

Quis; 44,100
seneng ausmllasgne
AevLs558] 1,450

Section C

OupisHEflu LiHYE
FLB Quppsl
wrHnIFEL g6 15g) euLlq
sifleyge

UTTESL60

sLemerlaem CLICTL 1460Bkg)

3,000

20

1,605

1,495

sLetGanr CLGT_(Hié@ wmmpw 400

Answer any two questions.

(2x16=32)

19. Suresh had the following transactions with Ramesh :

1988

Jan.1 Balance due from Ramesh

Feb. 16 Purchased goods from him

Feb. 28 Sold goods to him

Rs.

1,000

6,000

10,000

15
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Mar. 16

Apr. 20

June 16

Sep. 23

Oct. 24

Nov. 26

Received a cheque

Sold him goods (Invoice on May 3)

Purchased goods from him

(Received on July 16)

Paid him cash

Accepted his bills for 3 months

Received his acceptance

for 2 months

Rs.

3,000

10,000

15,000

3,000

5,000

8,000

You are asked to prepare on Account Current of Ramesh

up to Dec. 31, 1988 in the books of Suresh reckoning

5 % interest on the balance due.

16
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&Creay rCwaflLetT SPsHWL  HL 611q 560 S 6m 6

Q& nessT (D 66Ty,

1988
26, 1
910.16
Md. 28

wryg 16
er1. 20

oSetr 16

Qe&li. 23

5. 24

Beutb. 26

TCLAL O mHBE Qum Ceustrrguw LimsS

SuflLO(Bhg FréH@E eunmidluig
SAUmES SDDg)

as1Ggneney ClLMHMHG

g18@ elpma (G 3 60 Grmiy)
SuflO(Bhg FréH@E eurmsluig
(299696016 60 QUDHMS)

Qurssib QsasSus,

wrpDIF F_O&a6 3 ISSSNEflwg)
aDMISClETeTeTILILL &)

Sieuflest wrHHIESF () 2

rssSn & flwugl Clupms)

1,000

6,000

10,000

3,000

10,000

15,000

3,000

5,000

8,000

TCweflesr BLLIssew1s@E 31, 1gebuy, 1988 euenr,

&Graflen (D &H6mme0 5% 6ul_iqujL651 HWfl&s.

17
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20. Mr. Kumar keeps his books under sujle entry system.
From the following information, prepare Trading, Profit
and Loss account and Balance Sheet for the year ended

30th June 1996.

His position on July 1,1995 was as follows :

Rs. Rs.
Stock 12,500  Debtors 27,500
Furniture 5,000 Creditors 9,500
Buildings 20,000

Cash book analysis revealed the following facts :

Rs. Rs.
Bank o/d 5,500 Cash purchases 8,250
Interest on o/d 375 Salary 1,500
Receipts from Sundry expenses 3,250
Debtors 35,000 Rents and rates 600
Cash sales 12,500 Drawings 1,500

Payment to Crs 20,000
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From the analysis of personal accounts, it was found
that the trader allowed discount to debtors amounted
to Rs. 1,750 and received discount from creditors
amounted to Rs. 1,000. Gopi a debtor from whom
Rs. 300 were due, paid only Rs. 150, balance being
treated as lead debts.

On 30th June 1996 he had the balance at Bank Rs.
6,525. Stock valued at Rs. 20,000. Debtors Rs. 33,050.
Bills receivable Rs. 1,500 ; Creditors Rs. 9,500 and Bills
payable Rs. 2,000. Provide depreciation on Building at
10% interest on Capital at 5 % and create provision for

Doubtful of Rs. 1,200.

B (.@LT SevtenienL_W 6J(N&HE6T ememmLILIG6| (Penmuliled
eoeuggletenny. Spsaerei elurmsefleSBhg ewmuy,
6L BL_L_s6u018@) pmib @mLy Hlenevs@mliiy 30, ofsw
1996 - 60 (pIqEUEML_U|LD IL6TBTIeM (&) SWTFlS&e|D.

29emev 1, 1995 - e geuflesr Hlemev NemmeuHOMm) :
gradmuy : ep. 12,500 ; sLenneflaen ep. 27,500
wemeng enewill Gun@mLaser . 5,000 ; sLefnCsHmy
eh. 9,500 ; sLiqL1d ¢m. 20,000 ; Glym&s eLemL Iyl

Qewigdlev Spsaer elLrmigeT Gleusflul_LiLi’ L e,
19 AFN-1350




Qrmss gLlemL o ule| Cleuigdled Spssenr eNlupmigen

Qeusfludl i’ 6w

erb.
aui gl Goev euenrl UMM 5,500
SIS60 gl euLlg 375
sLevtnerflaerfl L0l (Bhg CLHDS) 35,000
Qrrae el mLIem 6w 12,500
sL_6vihCHM(H5 ) ClFasHuig 20,000
Qyr&s ClaneT(paeo 8,250
FLOLIEILD 1,500
LMHLI6V GlF6v6 a6 3,250
eUTL_69& WHMILD eufl&er 600
sT(pI &6 1,500

SETENT senTHms uie] Ceugsle, 3 Hemnsa

Sp&setTL elLITRIg6T sevT(h Ll SeHLILIL L 6.
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21.

FeTEhHLIG SHLNennellsEns@ emesss eoh. 1,750,
sL_evib Camil_ O (hBg SemenLlg Glunmg) eh. 1,000, Cami
o6t @(h sLevimefl ep. 300 srleustoriquieuy em. 150

L QG FHSTT LTSS UTTSHL6SITS SHSLILIL L G|

30 299esr 1996-60 euy, eumdlll@pLiLng er. 6,525,
gr&dmuy ep. 20,000, sLenneflest en. 33,050
CQumisH@Aw wrIONES O ep. 1,500; sLefhbCxry
eh. 9,500 wHMID CE)SsNEG AW WIHMIFEF_ G epH. 2,000
SpFlweneu eneusS (HHSM].

sl gL Sdlent 55 10% GCguiwnend a&SM. 5 % (WHeo
15g) euL1qu|ld gussL6est &Ly eh. 1,200 b @815ES.

A and B were partners in a joint venture, sharing
profits and losses in the proportion of 10 : 9 respectively.
Each party maintains a complete record in his own
books. A supplies goods to the value of Rs. 25,000 and
incurs expenditure of Rs. 500 on them ; and B supplies
goods to the extent of Rs. 21,000 and his expenses those
on amounted to Rs. 1,000. A sells all the goods for
Rs.70,000 for which he is entitled to receive a
commission at 5 %. Accounts are settled by Bank draft.

Prepare necessary Journal Entries and Ledger

accounts in the books of both the parties.
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22.

A vbpmib B em Deemallenenuied anl_Lneflserns
wennCGw 10 : 9 NflgsdHlev L9§55 8506l nesTLM7s6T
Seuisem eaubleunmeumd srisen Cerng e@Hserfleo
B6u15&HHem 6T Sevfl Sgevflwng Lrmoflgsniser. A ep. 25,000
wSILIL6TeT F(HEBGHHeme eh. 500 Claevaulflsg Seflssn ;
B em. 21,000 wéllietem #rd@sener eh. 1,000 Glgeveuifls g
Ieflgsnr. A steveor grs@asensmbd em. 70,000 &@ emmmy.
IASDES Si6UH&HE 5% sLfle] ClUMHMIT. HewwTd@Hs6m eumid

cuenTGeaUTEN6V PLPEVLD (LPIq&FIeMEUSHLILIL L G).

Coemeuwnesr @MUCUL (B udleysemenyw CuCGrl(@®
B6w15@GHSHe6em D B (Heuflent 7(DsefleYd swinflés.

David in Chennai Consigned goods to James in Trichy
to the value of Rs. 60,000 (cost Rs. 40,000) paying
freight and insurance Rs. 4,000 and draws a bill on
James for Rs. 40,000 at 2 months 9/10 the of the
consignment was sold by James for Rs. 70,000 and
expenses of Rs. 4,000 was incurred. James is also
entitled a commission of 10% on sales. James remitted
to David the net amount held for his account by means
of a single draft. Show the ledger accounts in the books
of both the parties.
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CLel, Geeemenruled(mhHg Hmesudedeter Czgen
eIesTLIe (G eh. 60,000 (IL&s ellemev em. 40,000)
SILIL|6T6T FT& @ BHE06T SeILILTDH CFUISTT. 6UETTE FHFHLD
wonL &TUSH eh. 4,000 CQFveClFwgTy. Gwebd
Cxwedlesr g em. 40,000 &@ 2 wrg LIPDMHES(H

EQETTEMMU|LD EUEHTIHSTI.

Cxgwen 9/10 Uk srs@asenen eh. 40,000 &@ eSNmmy.
eh.4,000 Glgeve] g engl. G ellHLiene 158 10% sLfley
QupmnT.

CagLbenv FesTERIENL LI SH658TSH ) LITSSeml 62(1F euenrGeoumeney

ENIAEMEEIE D8

Comeuwner CuCri(sews@asenst Q) e ifleo

aOsefled sresuriss.

skkok
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AFN-1351 BCO331

B.Com. DEGREE EXAMINATION, APRIL 2011
Third Semester

Commerce

INTRODUCTION TO INFORMATION
TECHNOLOGY

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

Section A (8x4=32)

Answer any eight questions.

1. Write a short note on Super Computers.

GUUT Sbwpl L Fsem upnl Ami GNILILY eT(p&Is.

2. Discuss Multimedia Computers.

wevigBiquir sewflesflaenst edeufl.

3. What is “Technological Convergence”?

“ClL_seuTe0 25360 S6t10l61T6EUTEN” 6TETTM 6V 6TEBTENT ?



What is GUI? And what are the common features of

it?

GUI eretrpnev 61631601 ? OOHMID SiFH6dT OILING| LI6TTTL| 6T

wmemneu ?

What is copyright?

FeeflLilrar 2 flewwo eteaTmmev eT65TEN ?

State DTP

DTP Ll snmy.

Explain Voice mail.

&rev Gloufled Ll eNlens@s.

State Virtual office.

Nfl§gealed JeauevaDd UMM Fom).
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10.

11.

12.

13.

State the characteristics of diskettes.

S seflen e1Caas & 6mmismeT Fnm).

What is the key field? Give examples.

& o°L960L_ 6TEVMT6V 6T6VTENI ? 2 FHMT6VITLD FT6LD.

What is VRML ?

65 417 6TLD 6760 6TETTMNEV 6T6UTEUT ?

What is Programming?

yCrrdlymblm eresimmed et6sTEN ?

Section B (3x12=36)

Answer any three questions.

Discuss the development of communications

technology.

Qar_iSlwed Camfled mIL LiGHler euemisslullement eleund).
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14.

15.

16.

17.

Explain about spreadsheets and its principal features

with examples.

evp_ & a6 LOHMID Fest NrGnes LewsTLS 6T LD

2 MIJEsuTIAIS ETHL_60T 6316118 (&H5.

Describe the advantages of Networks.

suenevLiestertevaeiflest Besteming:emer efleufl.

Compare Lossless Vs. Lossy compression.

Lossless ipmib Lossy oj(péseosenst LS.

Discuss fourth and fifth generation languages.

BITESISTOIG ODHMILD WHSTeUF Semev(penm GlmblaensrL
umnl efeund).
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18.

19.

20.

Why need DSS? Explain.

1q6Tev6TeN 65T CHEmeULIBIE MG ? eNl6rs&Hs.

Section C (2x 16 =32)
Answer any two questions.
What are elements of the Computer? Explain with

diagram.

senflLOurlullen 2 6T ev@SB6T WNeneu ? LILGFIL 65T

aeul.

Discuss about communication software and principal

features of database software.

Qgr_jllwer GuwerCurmet wHMIL G rGuev

CwerOlLmmerfles (pHetemio LiesoTLSHemer eleund.
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21.

22.

Explain the various types of communication channels.

QarLjwev Fnerevserflest auemasHenst ell6ns @s.

What is a database management system, and what

are its advantages and disadvantages? Explain.
CLnGuev CuCerrgy GloestL_ SlevL_LD 6TETMTEV 6T6BTEMT ?

LOHNID ST HETEHIEET WHMID SEOSET WTeweu ?

eNlens @ s.

skkok
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AFN-1354 BCO3M4/BCC3M4

B.Com./B.Com. (C.A.) DEGREE EXAMINATION
APRIL 2011

Third Semester

Commerce/Commerce with Computer Applications
BUSINESS STATISTICS
(Common for B.Com./ B.Com. (C.A.)

(Non-CBCS-2004 onwards)

Time : 3 Hours Maximum : 100 Marks

Section A (8 x4 =32)

Answer any eight questions.

1. Whatis Primary data ? State its method of Collection.

(PSesTemid eSLITLD 6TenmTeV 6T6vTest ? SiFement Cassfla @

(PEOMSET WTene ?

2.  What are the uses of Statistics ?

YermerflufweSleniemL_wi LIWI6STS6T WwWinemeu ?




Define Weighted Mean.

gl grnaflulen euenreilevs&esd &(hHs.

What is Quartiles ? State its uses.

SMEVIDMTEVTLD 6T MTEY 6TENE ? B SHeWIWL_W LI 6w 6T

G&HUAG.

What do you understand about skewness ?

Carlw unn BellT nleug eresien ?

How the coefficient of variation is calculated ?

wInUL L Q& peilenes sevsd (Heug) eTLiLlg ?

What is Regression Analysis ?

2 | 651 QaTL_rCLng ) etestmmev 6T6BTEN ?
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10.

11.

12.

Write a short note on rank correlation.

&7 @L(Oney upl SAn GPILIY 61

Write the uses of index numbers of prices.

elemev @GNIUIL_ (D) eT6vTTS6ITl6TT LILIGTTEHEMET 6T(LPSIS.

What are the uses of Time series Analysis ?

SneVwd &Y QFTLT U166 LIWesIgHeT wmened ?

What is Standard deviation ?

S L eNlevssLd eTesrmmey 6T6sTEN ?

What do you know about chain base index ?

etevor Qi glinen GOuIG umnl ey nfleugy

6T60T60T ?
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Section B (3x12=36)

Answer any three questions.

13. Distinguish between correlation and regression

analysis.

L One| womib Csri CursE uie|seEpsdlanL_Gu

Geaupmieno CusLd srevwrs.

14. Find out the coefficient of mean deviation in the

following series :

Age (inyrs) : 0-10 10-20 20-30 30-40 40-50 50-60

No. of persons : 20 25 32 40 42 35

Age (inyrs) : 60-70 70--80

No. of persons : 10 8
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e eupd Cam_fledmig srnefl elevss Glapeilenss
&6so1() Ylig. :

auwg (g emwraeafleo) : 0-10 10-20 20-30 30—40 40-50

wUiflen stevvrenflaens : 20 25 32 40 42

auwg (gesmpsefleo) : 50-60 60-70 70--80

wUiflen stesvrenflBens : 35 10 8

15. From the following information calculate line of

regression of Yon X:

X Y
Mean 40 60
Standard Deviation 10 15

Correlation coefficient 0.7

5 AFN-1354




S e HHeuevaeflef(Hibg X stes Y e Glgmiy GLns@,

Carliqenes sewrsdl (D :

X Y
LOLEDY 40 60
Sl L elevsaid 10 15
L Oy Clap 0.7

16. Find the coefficient of skewness from the data given

below :

Size 3 4 5 6 7 8§ 9 10

Frequency : 7 10 14 35 102 136 43 8

S0y Garhssiul_(eren elurmseafledmng CariL s

Ol (pellement sevors :

58 3 4 5 6 7 8 9 10

Semevlleueser @ 7 10 14 35 102 136 43 8
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17. Compute the average seasonal movement for the

following series :

Year Quarterly Production

I IT III IV
2001 3.5 4.1 3.7 4.0
2002 35 3.9 3.7 4.2
2003 4.0 4.6 3.9 45
2004 41 4.4 4.2 4.7

etreu b QBT (H&@ Frnefl LHeusTeo B&HT6| Hewsiad(h

QU@HLLD  &reoneseT(h 2 HLIGS

I IT III IV
2001 3.5 4.1 3.7 4.0
2002 35 3.9 3.7 4.2
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2003 4.0 4.6 3.9 45

2004 41 4.4 4.2 4.7

18. How to measure seasonal variation ?

LI(Heu &Tev MmLIT(HSEnsT sTeueuTm| Sjemedl_eomd ?
Section C (2x16=232)
Answer any two questions.

19. Find coefficient of correlation for the following data :

Feriliser used (tonnes)  : 15 18 20 24
Productivity (tonnes) : 85 93 95 105
Fertiliser used (tonnes) : 30 35 40 50
Productivity (tonnes) : 120 130 150 160
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et eupLd eNLITEISEHSE) L6 Cl&(pelenes srews :

2 _rluwestun(y (Ledr) : 15 18 20 24

2 HusdsHmesr (L6t : 8 93 95 105

2 qhinwestun(y (L6vr) : 30 35 40 50

2 HusdsHmesr (L6vr) : 120 130 150 160
20. From the following data calculate price index numbers

for 2006 with 2005 as base by (i) Laspreyre’s method
(99) Paasche’s method (iii) Marshall Edgeworth method

and (iv) Fisher’s ideal method :

2005 2006
Commodity Price Quality Price Quality
A 40 16 80 12
B 100 20 120 10
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C 80 30 100 30

) aumb Aurmseledmbs 20050 oy emenL
SlgliuenLwns st 2006 gy evwT(HssTe 6leneo
&GOS (D eTevsTEmeN Lil68T 61 (HLD (PevmSeriley sevtsdl (s
(i) eomevGwflesr @ewm (ii) urefllesr Wenm
(iii) writlaged er_gbleunjgdlen (pewp  (iv ) Nagfle

el (pdlw (Lpewm.
2005 2006
LeTLmGeT  edlemed  Ijene]  elemev 58
A 40 16 80 12
B 100 20 120 10
C 80 30 100 30
D 40 40 20 50

21. Calculated first four moments from the following data

and find out §, and g,
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22.

- 5 10 15 20 25 20 15 10 5

e eup eurmseafledBha e Bres @ elevssL
QumEES Carens f; wLHMIDL £, Wenen sersdl(bHs.

- 5 10 15 20 25 20 15 10 5

Find the seasonal index from the following table by ratio

to moving average method :

Seasons 2002 2003 2004 2005

I Quarter 80 82 90 88

IT Quarter 70 74 72 76
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ITT Quarter 76 78 72 76

IV Quarter 80 76 82 84

Yewr eu@mb L L eusmewtuileS(pHg eldlsresnrsHns
B (H Frnafl enpulled Liheubleneo @GnNui( sewtasl(hs.

LI(HeuLD 2002 2003 2004 2005
I sneorevsr(m 80 82 90 88
IT sreonesr(d 70 74 72 76
ITI sneorevor(n 76 78 72 76
IV gneonevor(m 80 76 82 84

sk
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AFN-9537 BCO3M5

B.Com. (C.A.)/B.Com. DEGREE EXAMINATION
APRIL 2011

Commerce/Commerce with Computer Applications

ADVANCED ACCOUNTANCY—III

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

Part A (8 x4 =32

Answer any eight questions.

1. Define Partnership.

o L_L_T6T0T6M LD—6UEMTILIM).

2. What is meant by fluctuating capital ?

IMLHID (PS6V 6TEITMT6V 6T65T6T 2

3. What is Revaluation A/c ?

LNHILSILIH SH6wTEHSE) 6TETDTED 6T6uTEsT ?



What is Joint life policy ?

Fo.l_ (D) LU|6T SlL_L_MEUESITLD 6TEUTMTEV 6T6BT6NT ?

What is Goodwill ? State the methods of calculating
goodwill ?

BOHGILIWT 6T6sTDIEL 6163160 ? FHEmeut HLILNBID (pewma6
wremeu ?

What is the rule held in Garner vs. Murray ?

anjesti 1T (WTCr - eupsdlev Olaresest SrLiL| etestest ?

What is meant by dissolution ?

FoL_L_ETITEMLD SH60I6VLIL| 6T6TTMIT6D 6T6UT6NT ?

What is meant by Purchase Consideration ?

Q& TeM(LPSH6V LOM)LIUIETT 6TESTMTED 6T6BTEHT 2
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10.

A and B are the partners sharing profits in 3 : 2.
C joins as a new partner for % share. Old partners

sacrifice equally. Find-out new share.

A wpmib B 3 : 2 etein efldlgsdlev eomumisenst LSl THE
Qanendleormerty. C etevTLIOUT % eomUll LIBI@&&@ Ldlw
gal_Lneflurs Gegdlpry. A womw B @mweumwb

gowrsSHuUTsD GFuflemery. eurseng LdHlw eomw
NSl sevsr (L1

X and Y are the partners in a firm. X draws Rs. 1000
regularly at the end of each month during the year
ended 31st December 2004. Y draws Rs. 700 regularly
in the mid of each month. Calculate interest on drawing

at6% p.a..

X pmin Y @@meumd snl_Lneflger. 31, iqanui 2004-60
X-eaieun@m wIgWL PnHule ep. 1000 Cerps
RQeevalpans sihaSmy. Y-geibleun wigupw bHeled
eh. 700 sT(@Lliuns, sih&Spny. ey Wsnes eulig 6%

&6usT(HL91q.556,1D.
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11.

Calculate the value of Goodwill at 2 years purchase of

super profit.

Average profit Rs. 40,000.

Capital employed Rs. 3,00,000.

Normal return 10%.

SpaeniL elurtisefleo Q@mHE 2 F& eomu g LiLienL_ulleo

2 eupL Qamerpge0 BHGILIWT Sevur( g SHHea, L.

grn&fl eomuid er. 40,000

FOUBOSSLILLHeTsT (PpSev em. 3,00,000

Blwmuwres (60608)) engnyest oL elldlswn 10%.
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12.

13.

A and B are partners sharing profits in 3 : 2. C joints as
new partner for % . C pays Rs. 1,000 for Goodwill. New

share of A, Band Cis2:2: 1. Give journal.

A vpmibd B @meumd eorumigenst 3 : 2 stearn el g g 60
Libe aumdepeni. C esueui Y5 eoruliLBI@EEGL
yHw gal L neflurss Cerdlpry mHoluwmesns em. 1,000
Qanewsr(h eumEmny. A, B,C Qeujseng Llw eor elldlsid

2 :2:1 @ILCU® 5mHS.

Part B (3 x 12 =36)

Answer any three questions.

What are the entries to be passed for revaluation of

assets and liabilities ?

Oensgisaen, ummiyssT wHWSHUTH FOUBSLWTET

Smensg GNLUCLM uleysst FmHS.
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14.

15.

What are the accounting rules applicable in the absence

of partnership deed ?

Fnl L newwrend @LiLb L DeveonsCung &Ll L meflser

senL_L1q 58 Ceuevrriqw sewrs @ elldlaer wiremeu ?

R and S are the partners sharing profitsin 3 : 2. T joints
as a new partner. Goodwill is valued at Rs. 50,000. Give

journal in the following cases :

(a) No goodwill a/c appears in the books.

(b) Goodwill appears in the books at 30,000.

(¢) Goodwill appears in the books at Rs. 75,000.

R pmid S @@meuid 3 : 2 stenin eNlflggdle0 somLikisenerL
uflThg eu@mb amlLneflser. T etesrueur Ldlw
amlLneflures Qewewmdlpry. Qgen Curmpl(®
fneuegdles mBHGQUWF ep. 50,000  etew
pHLEG_LLGEDE. Spssear G Hlamesefle

BHoLWGHSsTe GHBILCL® LuSle|s6T H[HS.
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(o) sesCasBsefleo BHOLWT QeveorsCuns).

(&) sewaE eagbhsaled BOGUWF ep. 30,000

T (HIbSMeV.

(&) sewsE ghsaled pbORUWT ep. 75,000 erew

B@bsed.

16. The following is the Balance Sheet of A and B sharing
profits equally as on 31.03.2008.

Liabilities Rs. Assets Rs.
Creditors 30,000 Cash 47,000
Bills payable 10,000 Debtors 33,000
General Reserve 50,000 Stock 10,000
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Liabilities Rs.

Capital A/cs
A 60,000
B 70,000 1,30,000

2,20,000

Assets Rs.
Furniture 20,000
Machinery 40,000
Building 70,000

2,20,000

On 1.4.2008 C joins as a new partner on the following

terms:

(a) Goodwill is valued at Rs. 36,000.

(b) Appreciate buildings by 10%.

(c) Depreciate furniture and stock by 10%.

AFN-9537




(d) Provide 5% for doubtful debts on debtors.

(e) C brings Rs. 50,000 as Capital. Prepare
revaluation account, Capital account and B/S of
A, B and C.

A vomb B @meud eoru elldlgmisenens swiwong LS THE)
au@mb FalLneflast. C eteorueuy yHw sl nefluns

BemevstSlmmy.

A, B @meuflest @@uy Hlemevs @iy 31.03.2008 ev

2 6ITeTLILg

QummyLiyger erp. Qensgisaem o,
sL_6viHCHMT 30,000 AL EE A 47,000
Qe 53150 @G lw sLevmeflaem 33,000
IHNIFS (B 10,000 grsd@muy 10,000
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CummyLiyger erp. ClFns g5 56T erb.

Curgisamiy 50,000 siemmaevest 20,000
(PS6V &/ (GS6T BuinSrbd 40,000
A 60,000 SL_IgL LD 70,000

B 70,000 1,30,000
2,20,000 2,20,000
1.4.2008 60 C ydlw gal" Lneflung Cardlmmy.
1. OO LW em. 36,000 stewr AL LiLiGE &,

2. sliqL_gdlest wdllienu 10% 2 wj58)s.

10 AFN-9537




3. 36O &6V 68T 1D M M 1D gr&dlmLuy 10%

&GOD&ESLLOE DG

4. sLenneflaen 156 5% puEssLeT QFHHG

TDUBSSLD.

5 C geng umasns ep. 50,000 a6 G&mew(h

aumHE].

wowHith &/@. @wso &/@ wHow Pouy
Beweos@mliy gms.

17. A, B and C are partners sharing profitsin 4 : 3 : 2. The
Balance Sheet as on 31.12.2000 stood as follows :

Liabilities Rs. Assets Rs.

Creditors 35,000 Building 55,000
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Liabilities Rs. Assets Rs.

Capital A/cs Stock 20,000
A 40,000 Debtors 10,000

B 20,000
C 5,000 65,000 Cash 15,000
1,00,000 1,00,000

They agree to dissolve the partnership. A agrees to take
over stock Rs. 15,000 and debtors are Rs. 7,000. Building
was sold for Rs. 27,000.

Prepare Ledger to close the books.

A, B vpmip C eoruiusener 4 : 3 : 2 eteorn eNlflggle0
udlihg U@L Fnl L meflser. 31.12.2000 6o 2 ememLig

Sleufaseng @ L Hlemeos@mlLiL e :
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QummyLiyger erp. Qensgisaem o,

sL_evithCH iy 35,000 L1l LD 55,000

CERENG #r&@ Qmuy 20,000
A 40,000 sLenmeflaen 10,000
B 20,000 Q& sLd 15,000
C 5,000 65,000

1,00,000 1,00,000

S LTINS SHMOLILIG 6160TM I 6060 S S|
gnl_Lneflaep cTememdlepeny. A Fr&H@ B mLenL
eh. 15,0008 @w, sLesneflaemen eh. 7,000 erevmeyld
SN 1SS0 sMETS DT, HL1qL b eh. 27,000 &
NmasLiul L g).

Bmiwsdlen &/ @ semer (piglign@flu CuGTH ST &Hs.
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18. The following is the Balance Sheet of X, Y and Z sharing
profitsin 3:2: 1.

Liabilities Rs. Assets Rs.

Creditors 15,000 Cash 500

Reserve 6,000 Machinery 10,000

Capital A/cs Debtors 15,000

X 15,000 Stock 12,000

Y 10,000 25,000 Z Capital 8,500
46,000 46,000

The firm was dissolved. Assets realised Rs. 26,000.
Expenses amounted to Rs. 1,000. Z was insolvent and
Rs. 2,000 was realised from his estate. Prepare

necessary ledger by applying Garner vs. Murray rule.
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X, Y oppid Z 3 : 2 : 1 etentp eNlflggdle0 eonumigenet

uflThE eu@mb Ll Lneflser Jyeurseng Ly

Blemeva@nilLiL] :

QummyLiyger erp. Qensgisaem o,
sL_eviHCHy 15,000 AL EE A 500
Cungsmiy 6,000 Buislro 10,000
(PF0 &/ (& sLenmeflaem 15,000

X 15,000 gredmuy 12,000
Y 10,000 25,000 Z s /@ 8,500

46,000 46,000
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19.

gal_Lnewstenld Hlmod Senesasliul_Lgl. O&nsg &sen
SjmSHD ¢FH. 26,000 &@ eNnmasLLL L 6. SHeneoLiL
Ceeveymem ep. 1,000. Z Sleuneomesreuy  er6wt
IMeflsastu@GEDry. en. 2,000 LW 6uflLblHHS)
Qupliu@ &g,

2 flu CuCGr@aset arjerry e1dly WPrGr C&meTena Ll
FWnfl&se]|w,

Part C (2x16=32)

Answer any two questions.

Ravi and Arun are partners sharing profits in 3 : 2.
Capital balances on 1.4.2007 were Rs. 1,60,000 and
Rs. 1,20,000 respectively, Drawings Ravi 12,000 ; Arun
Rs. 8,000. Net profit of the firm for the year ended

31.3.2008 before making the following adjustments was
Rs. 60,000.

(a) Interest on capital and drawings at 6% p.a.

(b) Salary to Ravi and Arun Rs. 10,000 p.a.
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(c) Ravi to get a commission of 10% on the net profit
before charging such commission.

Prepare Profit and Loss appropriation and capital
accounts.

redl LOMID Hewr PHw Qweuwmwd 3 : 2  eTerID
Ndlasdlev eomumsemeTl LHTHE UL Fnl L erflger.
1.4.200760 Sjeuiseng (Wwsev : el 1,60,000 j(mever
1,20,000. st(pLiy eumd : rell 12,000 3y(mever 8,000.

SP&STamILD FflsL_L 608 EHeE) (peut HimIoD FrLiqul 60D
e, 60,000.

(@) (360 wHMID TOLIY 5G] UL lg 6T0T(H RETTMISHE)
6%.

(=) 76l HMID (HETT G (HeuHS G eu(HL FLDLIETLD
et 10,000.

(®) sfleweu Carliugm@ esy 2 eTem eorLSSl 60
redl&@ 10% sfley euprmsiiuiL Ceouesr(HI.

eomU-KL L L&lTe| &/@, LOHMID (PS &/ @& S([HS.
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20.

21.

A partnership firm has three partners X, Y and Z with
capitals as X Rs. 20,000 ; Y Rs. 10,000 and Z Rs. 10,000.
Creditors amounted to Rs. 20,000. Sundry assets
Rs. 60,000. On dissolution, the assets realised as follows,
I-instalment Rs. 20,000 ; IT — 20,000. Final 10,000 profit

sharing ratio3:2: 1.

Prepare a Statement showing the distribution of cash
under proportionate capital method.

Q@@ FmLLnewren Bniwsder X, Y womiw 7 gyfw 3
Fnl_ L nefleen o emenenty. (wHeo @@Ly X e. 20,000 ;
Y em. 10,000 ; Z em. 10,000. sLefbGgxny em. 20,000 ;
ueveuens Glenggsser ep. 60,000. Bimiws seneoLidles
Curg Oerggssear alpsuul (@ 3 Hlensvsefley Liewd
QuDLILL L g). (S0 Feuemese em. 20,000 ; 2-1d Feuewnevet
20,000 ; @mid seuenewT op. 10,000 eorL efldlgib 3:2: 1.
Qrrsasb eTeueumrm LSTHSefE&SELILMD 6TeTLSNH S T6w

Nsemaenw dlgreny (paeo (peonuiled swrflés.

Mahesh, Naresh and Suresh were partners sharing

profitsin 3:2:1B/Sason 31.12.98.

Liabilities Rs. Assets Rs.

Creditors 12,000 Cash 1,250

18 AFN-9537




Liabilities Rs.

Reserve 6,000

Capital A/cs

Mahesh 20,000

Naresh 15,000

Suresh 12,500 47,500

65,500

Assets

Debtors

Stock

Machinery

Building

Naresh retires on the following terms :

(a) Goodwill is valued at 9000.

Rs.

7,750

16,500

18,000

22,000

65,500

(b) Depreciate machinery by 10% and stock by 20%.

19
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(c) Appreciate buildings by 10%.

(d) Provide Rs. 200 for doubtful debts.

Prepare necessary Ledger and Balance Sheet.

wGaseay, BCray wHMID &Crey @@ L Lnewenw

Bmicuengdlest gal_Lneflaer. soru elflgw 3 : 2: 1.

31.12.19986v jeurseng Q(HLIL Hleneos@nlLiL

QummyLiyger erp. OensgisaeT .
sL_evithCH iy 12,000 Orr&s1Db 1,250
Curgemiy 6,000 sLenneflser 7,750
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CummyLiyger erp. ClFns g5 56T erb.

CERENG gradmuy 16,500
wGases 20,000 TS TLD 18,000
sGray 15,000 &L_L_L_ILD 22,000

&Gragy 12,500 47,500

65,500 65,500

KCras gnl L tewstemniouled QmBg eleo@GH .

(2) BOHOLWF em. 9,000 st AU LILBE DG

(=) sihdlrsdlen Bz Csuwremd 10% ; Frssl@mUy
wdllienu 20% GHenn&HSBaLD.
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(®) sLligLgdlen wdliy 10% 2 wissHew.

(FF)  eumpm PWSSHL_6T 68155 eh. 200.

2 flu CGuCGri(® sews@asst swrflss, PmLy
Hlemevs@mlLienLiwbd swirflése, .

22. A and B are equal partners Balance Sheet as on

31.12.2000.
Liabilities Rs. Assets Rs.
Creditors 3,200 Machinery 1,200
A Capital a/c 400 Furniture 300

Debtors 900

Cash 180

B Capital 1,020

3,600 3,600
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As all the partners were insolvent the firm was
dissolved. Assets realised : Machinery 600, Furniture
100, Debtors 700, realisation expenses 140. An amount
of Rs. 140 was received from B’s private asset. Prepare

necessary ledger a/cs.

A vpmidb B @@meumd eorugens Fwwnsl udlihg euhid

FaL_L_merflaer.

B mwuy Hlemevs@miLiL 31.12.2000 ev 2_eitermLilg.

QummyLiyger erp. Qensgisaem o,
sL_evithCH iy 3,200 TSI TLd 1,200
A s 5/ 400 S| 6MDS606TT 300

sL_evtnerfla6i 900
QrrssL 180
B s 1,020
3,600 3,600
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B meummb Feuneonesreuisen eresr MeN&ESHILL L GM6v
gal_Lnewstenld Mo senesasliul_Lgl. O&nsg &sen
lpuenest efleurd : erhSlyd 600, Hyewmasevesr 100,

sLesmeflaen em. 700, semeoliL Olgeveysser em. 140.

B-eon Qerng OQersdledmbgs op. 140 wl@GCWL
CupLiuLL g

Caemeuwnen CLCTL (B &/ @a6T Swnflés.

skkok
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AFN- 0180-A BCO4MI/BCC4MI

B.Com./B.Com. (CA) DEGREE EXAMINATION
APRIL 2011

Modern Banking Law and Practice

COMMERCE

(Non CBCS—2004 onwards)
[Common for B.Com. and B.Com CA)

Time : 3 Hours Maximum : 100 Marks

Part A (8 x4 =32)

Answer any eight questions.

1. Define a Customer.

QUTIQ &6M& WIMEIT[T - 6UEDTWIM).

2. What is Banker’s Right of Lien ?

euiSlwflen upmiflenio sTeaTmTEL eT6vTEDT

3. Define pledge. What are its features ?

SIL_LOMewTld euenrwm. 6wt SpLiSluieoLser wreneu ?



4. Draw a specimen form of Fixed Deposit Receipt.

@ Hlewev eneuli] r&Sleor IS Ligeuld uenrs.

5. Asabanker how will you open and operate a Minor’s

Account ?

Beneu (hHeulflest Sewtadlenen CBML_ki@FHeuSMN @) eumiluly
(&8s Ceuetrriqw (PesTOleEsflHens HL 61186056

wmremeu ?

6. Distinguish between a cheque and a bill of exchange.

anGgnemev LOHMID WIHNIF FewL CaumLHS55 5.
7. What is meant by endorsement ? Explain its
essentials.

Cuwlev sz 676370 M6V 6T 667 60T ? 3| 5 6T

Besnlweniowings misHener 6Sl6me@s.

8. Explain stop payment order.

QUMY SHEnSW TSl 63T HemL_ Y emeueT 6568 (5.
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10.

11.

12.

13.

Explain the legal position of Collecting banker.

6u@ed& @ eurdlwfles L Elenevenw eXlens@s.

What are the different kinds of mortgages ?

LTSS\ 68T 61MESHET WTene ?
Explain the features of negotiable instruments.

DIDHDI (PEND 6 ETTEIS6IT 63T 61NSBSH6T WTemeu ?

How negligence can be classified ?

861 60TLO 63T6m LOUN 63T 61 6MISSHET Wimemen ?

Part B (3x12=36)

Answer any three questions.

Explain about banker’s obligation to maintain secrecy

of his customer’s account.

QUMGSenaWNeTfles SHewidh@ Tadlwnisenst 6umidlwi

ung&miL @GNSg elens@s.
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14.

15.

16.

17.

What do you understand by the effect of entries in a

pass book ?

Cleeven Lsaasdle0 LSleysefler elenereysst L Belli
SiPleug) wng ?

Explain the duties of paying banker.

Clee) 53D eumdlwiflen &L_enwsenst eXl6ns@s.

What are the salient features of Traveller’s cheque ?

vwesnflLGurrarGanensoullest ALy bamigeT wrene ?

Define charge. Explain the types of charge.

FLOnS-auemgum, RLGnduller eiamassener
eNlens @ s.
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18. Whatis crossing ? Explain its kinds.

SM6V 6TEBIMITEV 6TETTEN ? | FH6UT 6UENSHSBEM6T 6X6118H(E)5.

Part C (2x16=32)

Answer any two questions.

19. Explain the general relationship between banker and

customer.

euBISlW(HSGLD eulgSHensWTemHHEGL QenL_Cuwiwires GlLing)

2 M6 |Hener a6 @Hs.

20. How will you open and operate the following accounts
(a) Firms.
(b) Limited Companies.
SPEHETTL QUMIGSENSIITET] SHesuThensd Hleun @w Cung
Cunolsnerer GeuewtTiq i HL_6111qHEDSSHE WTeneu ?
(a) gal_L_neworenio

(b) euempwmissILL L Bl
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21.

22.

Explain clearly the statutory protection granted to a

collecting banker.

@GNS0 eunidlwiflesr FLL LyTeubTen LINg&MenL

eNlens @ s.

What are the forms of loans and advances issued by

commercial banks ?

cuenfls eurkid) auLpEIEGLD SLcnsemen LIeGauM) 61l ekIS6T

wmremey ?

skkok

6 AFN-0180-A




AFN-1355 BCO4M2/
BCC4M2

B.Com./B.Com. (C.A.) DEGREE EXAMINATION
APRIL 2011

Fourth Semester
Commerce/Commerce with Computer Applications
BUSINESS MATHEMATICS

(Non-CBCS—2004 onwards)
[Common for B.Com./B.Com. (C.A.)]

Time : 3 Hours Maximum : 100 Marks

Section A (8 x3=24)

Answer any eight questions.

a b ¢ a+b+c
f_Z_= =2
1. If 3170 show that
a b ¢ a+b+c
—_— == — S :2 .
347 sT6uflev ; sTenTLIEng Hlmieys.

2. Find a mean proportional between 4 and 44.

4 ppmibd 44 QaupPnE Qe Cuwrenr senL_eldls

FLD6NETTS ST6T0TS.



What is Legally ‘Duc Date’ ?

gl iLqunes (pig6e| Cod) etesrmmev erestenr ?

If 10 men earn Rs. 450 in 15 days, how much will
8 men earn in 18 days ?

10 pugsset 15 mBrserflev em. 450 spLTSSHT60, 8 BLITSHET
18 mr_serflev etevieueney swunSlliLimjger ?

What is Ratio ?

NS GLd eT6v1MT6L 6T6BTENT ?

If ka+k'b+k"c=0 and a + b + ¢ =0, prove that

axbxec.

ka+k'b+k"c=0 wppwa+b +c=0eesfleo a xb xc

eTewt Elmi6 5.
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10.

11.

Find : %/0.8634 .

sesS (08 : 1/0.8634 -

What is Roster method ?

GrmenvL_r (pewm 6T68TMTED 6T6BTERTT ?

Solve : (1-x)10=0.9045.

878 : (1 —x)10=0.9045.

State Multiplication theorem of probability.

wlpe|serflen GlLmesHeT CHHDSMSEH Fnm)s.

Define ‘Binomial Distribution’.

FE(HLILL LIT6U60—euen Tuim).

AFN-1355




12.

13.

In a Binomial Distribution the mean is 20 and the

variance is 15. Find the mode of the distribution.

@6 FmGNILLL ureueSen grmafl 20 bHMID LFeueoLg 15

e1esflev (L&D SHevsis.

Section B (3 x 12 =36)

Answer any three questions.

The monthly incomes of two persons are in the ratio of
3 : 4 and their monthly expenditures are in the ratio of
2: 3,if each save Rs. 100 per month, find their monthly

incomes.

@rewnt(n muiseflest wrgTHET LMD 3 : 4 eT6vTm
Ndlgsder o erengl. Coeb Hyeujseafler wrsrbSr
Caevellestid 2 : 3 ettt NlFlFSSl60 2 6ieng). B (Heu(HLD
Q@@ wIss5HnE eph. 100 Cablliy Gewflermenty, seflev,

S|6UTS6IT63T DG 61 (HLOTEVTSHENSGE &M6TvT5.
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14.

15.

16.

Prove that: (AUB)UC=AU(BUC).
(AUB)UC=AU(BUC) eter HlemLal.
Prove that : (i) log,(m x n) =loga™ +loga”.

(ii) log, (ﬂJ =loga" —loga"
n

Bmieys @ (i) log,(m x n) =loga™ +loga™.
(i) log, (ﬂJ =loga" —loga"
n

Prove that the mean of the Poisson Distribution is 2.

umieronest LpeueSlent srnafl 2 etestmy Hlmie|s.
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17.

18.

19.

Find the probability that a Standard Normal Variable

is greatest than 1.32.

S.N.V. 1.32 &@ sidlswrs Qmes@n Curg, fepsse

wrg ?

10
Find the middle term of (% - gj .

10
(D0l 6u6TTTEN ETTTE B6WBTSHEL_61LD (%—EJ .

Section C (2 x 20 = 40)

Answer any two questions.

State and prove conditional probability.

s_(uurenLw flapssaier Capmsans eiipdl Hmie)s.
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20.

21.

The chances that 3 students A, B and C solve a problem

are %, %, % respectively. If all of them try to solve
the problem, what is the probability, that the problem

is solved ?

epestm) wreswraufseT A, B, C e sewisens Srliugmnane
eumiLiy a6 (wewmCw y,%,% SGD. PaU(BHID IHS
HeHMS S1Hs (PWNHIGHT0 hs SewiadnG Siey

SlewLLiugmaner Hlap s56 eTeumest ?
Fit a Poisson Distribution to the following data :

X: 0 1 2 3 4
f i 211 90 19 5 0

Spsei. NUTRISEHS@E ULTUEVTET LIT6u6en6vL

(AR

X: 0 1 2 3 4
f i 211 90 19 5 0

7 AFN-1355




logx logy logz

22. If .
y—z z—-X X-—Y

Prove that x*yY 2z =1

logx logy logz

Sy XNy 52—
-z z-x x-y eteutlew x* Y 2% = 1 etewt HlemLal.

skkok
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AFN-1356 BCO4M3/BCC4M3

B.Com./B.Com (C.A.) DEGREE EXAMINATION,
APRIL 2011

Fourth Semester

Commerce/Commerce with Computer Applications

ADVANCED ACCOUNTANCY—IV

(Common for B.Com./B.Com. (C.A)
(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks
Part A (8x4=32)

Answer any eight questions.
1.  Write short notes on :
(a) Royalty.
(b) Minimum Rent.

UL flend oML GHOD GHODHS 66| eUTLens g
AniGHILY e195is.

2. How is Royalty Account prepared ? Explain.

sruLflend sewis@ eeueurm swrflssuu@Sng ?

eNlens @ s.



Explain the method of computing profit on incomplete

contract.

BeopeiQuprs  @uubssHOGHE  Georub

SewtSEIL_LILI(OID (pewmaenet 6Xl6ms@s.

What is a cost plus contract ?

L &s6lemen QenewThd LILIHFLD 6T6ITMMED 6T6TT6u 2

Write short notes on repossession.

wHIESWSLILMOSSHS B Hn @GNl e1pgis.

State any four features of Hire Purchase System.

UTLenas Oanar(psed (wemmules gCseanid /e @

SEEDLDGHEN6NE o )| 5.

Why is statement of affairs prepared ?

a6 Sie| eleur Mlsems ereur swnflasiL@Sng.
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10.

11.

Distinguish between insolvency of an individual and a

Partnership firm.

geofl BUT CEmg LIl Bleneos@b Fnl L mewTenio Hlm)euew
QEmgliy Hemevs@w Qe Cw 2 eten Coumiuir(senen

FoM)|S.

Differentiate between Departmental Accounts and

Branch Accounts.

Flewneunflé sewws@Gsemen LOHMID SHlenens: &e6ws1s G S en 6

Camu® 5815.

State any four advantages of Departmental Accounts.

glemmeunfls sewta@sefles CaaID 6t (@) HesTENLOSHEN6TS

FoM)|S.

Write short notes on ‘Branch Adjustment Account’.

‘Slemenaflas_(Dae0 sewis@ W Hn GNILILY 61(1p&1s.
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12.

13.

Explain the Procedure for the preparation of

departmental accounts.

geopeunfl sHewts@GHenen Wy Gleweudleo 2 emer

auldl (pewmaenst 696 Es.

Part B (3x12=36)

Answer any three questions.

A firm of builders, carrying out large contracts kept in
a contract ledger separate accounts for each contract.
The following particulars relate to a certain contract

carried out during the year ended 30 th June.

Rs.
Work certified by Architects 1,43,000
Cash received from the contractee 1,30,000
Materials sent to site 64,500
Labour engaged on site 54,800

4 AFN-1356




Rs.

Plant installed at site 11,300
Value of plant at 30th June (closing) 8,200
Cost of work not yet certified 3,400
Establishment charges 3,250
Direct Expenditure 2,400
Wages accrued due 1,800
Materials, closing balance 1,400
Materials returned to store 400
Direct expenses accrued due 200
Contract price 2,00,000

You are required to prepare an account, showing the

profit on the contract to 30" June.

5 AFN-1356




e® uflu sligL Bnww, Cuflu oereleomen
uubsrIsmen seaflgeafll CLCTL(Hs & s @aefle
CunOanemr(ereng). Neseumn eNleurmigsst 29smr 30-60

WRenb ey HaTeT @%@ QUUBSL
QBT enL WS n@L.

sLligL Hlyewrisenmeo grenmeflaai L

Geusmevullest oy6mey 1,43,000

euUUBSSTIALO GBS Cupliul L Crrsswn  1,30,000

uewflll_s5Hn @ Sepiuiiul L sr&dles
iy 64,500

uewflulli_gdleo LiewflyflGeumy iy 54,800

uenflul_gdleo BimieuliLi’ L semeum_miger 11,300

oS6s1 30- HIETEITEDMHUI S6M6uTL_rBiGe6rt6vT LILIL

(@0 i) 8,200
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gnesiperflaasliLL_ng Liewflulles wdliiy 3,400
Bmiegeisaes Clgeva|sen 3,250
Crrig Claeveysst 2,400
Qar(huL_Geusssriqul g0.60 1,800
grs@aetlen @mid iy 1,400

LI6WSTL_&&Memne0s @ Sl(HLULY epiiiuiiu’ L

DG 400
Crig ClFeve e Glam(HuLGeusvoriq wig) 200
@UUKS ellened 2,00,000

30, 2f6t1 BeTEsIENMHW RLILIGILD LSS Test QeonLIGens S _(HLd
s6w153) evtemm Wy Qewiw Belly Carrliu@Eni.
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14.

On 1st January 2001, the Gudur Mines leased some
land for a minimum rent of Rs. 3,000 for the first year,
Rs. 5,000 in the second years and thereafter Rs. 10,000
per annum merging into a royalty of 50 paise per ton
with power to recoup Short working over two years after
occurring of short workings. The outputs were as

follows :
2001 3,000 tons
2002 8, 600 tons
2003 22,000 tons

2004 50,000 tons

Show how the accounts would appear in the books of

the Gudur Mines.

menaufl 1, 2001 oM GHHOJ FTRISD GHODHS 66
QUTLEDSWTS (PSHEV emTign@ eh. 3,000, Grevwr_mid
SpeTgHS eh. 5,000 Cueib geTilinG SpemeHE
¢h. 10,000 eTevieyld 6w SLiL|flenind g Tensu|L 6T 6

Leeflm@ 50 ewusm etemn QemewisgH OumibIM
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15.

&S558  @LILs0lsTew(hsTeng GCoab Klenne6lLnns
Causmevenws @revot(H) 2y 6v0Tiq DG LILN6sT GlLImMOTMID 6LU1L|S

ClamememLiLILL g :

2 HugS esteuHLonm)

2001 - 3,000 Lenraen
2002 - 8,600 L evrazen
2003 - 22,000 Lewser
2004 - 50,000 L emsem

&BT &TRs SHewsE@ adbsafleo @& eTeueumm)

CaresmiLd 6T63TLIENS &6ToTL_118.

Distinguish between Hire Purchase System and

Instalment System.

QUTL_6988 CIHET(LPSH6V (LMD LONHMILD SH6UEHETT (LPENDHEMLLI

Camu® 5315.
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16. Prepare a specimen of statement of affairs.

sLendie| sewws@ Nsmawiles @ wrdlflenw swmy

Q&swis.

17. The Mumbai Head Office sent goods to Chennai Branch
at 25 % Profit over costs. From the following details,
prepare the Branch Account in the Head Office books

and ascertain the net profit at the Branch.

Rs.

Opening stock of Goods at Branch

at invoice price 20,000
Goods sent to Branch at invoice price 90,000
Loss of goods in transit at invoice price 6,000
Pilferage at branch at cost to Branch 1,200
Closing stock at Branch at its cost 16,000
Sales at Branch 1,05,000
Salaries and wages at Branch 6,000
Other expenses at Branch 3,000

10 AFN-1356




Chennai Branch received Rs. 4,000 from the Insurance
company in settlement of the claim for the loss of goods

in transit.

(el 6Tem Fmeemd eV euev&HD ol &6t en eur
Slewens @ Lsaellenevs@GGwe 25 % @eorud emeusg)
Fr&H@Gsemnen elliflugl. Wemeumb elleurmiserfled hHha)
FHEMEVEDID VUG 6] 1g60 HEnens SHewIHens Wy

Qawis G Senerullen Hlar QeorLiGens sewwisdl (His.

erb.
Slememulilev 2 6mem OFTL_58& Frad(HLIL

(pLenest elemevudlen) 20,000
Hlenena @ elpLenest elemeoulev eILiLiL

UL §75(S) 90,000
&8 @ eI CLNg) &ennikhSa) -5 mLienest

aflemevudlev 6,000
Slenemullev Fra@ HHHGLT6E) - flemermufest

L &sellenev Lilg 1,200
Henemuiled @md) FrsdlmLien wHlLiL Slememullen

I|L &6 eneoLilg 16,000

11 AFN-1356




18.

19.

Slememulles eNlmLen 6wt 1,05,000
Hlenemulilest g6l HMID 2ardluiid 6,000

Slememulilerr Nm OlFeve 6T 3,000

#15@ eLywéurg gnul L @upullpsren Carms
Qaremsemw Srlug CsrLjurs Gloearenes &lemen

a1 G Binieuens S0l mHBE . 4,000-25 QuDMmIeTeTS).

How do you allocate the common expenses to different

departments ? Explain.

Qungeunes Geeveajsener By eteueumrm L6 Goumy

FOMSEHSHE) R&15EGHeIT ? elens@s.

Part C (2x16=32)

Answer any two questions.

Mr. Gupta purchased a machine under hire purchase
agreement from Mr. Pankaj. The cash price of the
machine was Rs. 15,500. The payment for the purchase

is to be made us under.

12 AFN-1356




Rs.

On Signing the agreement 3,000
End of the first year 5,000
End of the second year 5,000
End of the third year 5,000

Make necessary journal entries in the books of both the
parties. Charge depreciation at the rate of 10 %

diminishing balance method.

S . @GUST stetTLouT S, LRISHD sTesTLeuFlLLO(HH& (M
Qundlrsens eurLems OGara(psed QLULKISL I
Qarenpzer Glawigeremty. Qubdlrsdes Grrss Kleneo
eh. 15,500. Qanen(pgesanest elened Lol hLTm

Qe sSsLLLL g).

erb.
@UUBSD sl (psSsTE&LEUNg 3,000
paeonessi(h @ miSlulled 5,000
@ resstL_moneser(H @ mySludleo 5,000
ewesTmmomeset(h B mydlulled 5,000
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@revr@ puisefler egOseflen GCaemeuwmen

GSPOLCUL L udlesamnens FmHs. GHmnDhg e @ Ly
weopLiig 10 % Csuibnersemns sl g)s.

20. Mr. Kuber is an insolvent, He supplies the following

information as on 31st March 2005 :

Trial Balance as on 315t March 2005

Rs. Rs.

Creditors (include Rs. 10,000 secured
against his private house property

estimated to realise Rs. 6,000) — 30,000
Salary payable to his clerk - 800
Debtors :

Good  Rs.15,000 20,000 -

Bad Rs. 5,000 - 3,200

Income Tax payable

14 AFN-1356




Rs. Rs.
Furniture, estimated to produce Rs. 4,000 5,000 —
Stock in hand, estimated value Rs. 30,000 40,000 —
Bills Receivable, estimated to produce
Rs. 3,000 4,000 -
Drawings 15,000 -
Cash in hand 500 -
Bills Payable - 6,000
Bank Loan, against mortgage of stockin hand - 25,000
Loss in business trading 10,000 -
Capital - 34,500
Loss through betting 5,000 -
99,500 99,500

He had discounted bills of Rs. 10,000 of which bills

worth Rs. 3,000 are likely to be dishonoured. Prepare

the Statement of Affairs and Deficiency Account

assuming that Mr. Kuber resides in Madras.

15
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S . GCUT @ OpngLiy Hemev ewLbgeur, 2005, wjs
31 mremesemmOW eurg eNeurmsst LIesteuhHLTm)

sTLILGSE DS

& 31, 2005 mremestenmW Z)(HLILIMLI6Y
b b
sLevlibCamyaer (em. 6,000 Siey wlliLjenLw
Sleurg) blenbg 65 qembg) em. 10,000
wSHiyenLw sLenib Caqmbgemeng)) — 30,000

2 geSlwnem(maae 2ardluin - 800
G L_6UT6ITTS61T :
Sl omevtgy em.15,000 20,000 -
sowiomeng) em. 5,000 - 3,200
Olgen155 Cousvvriqut eu(mhLomes euifl :

SIENME6068T, ETHTLMTSESLILIHID ey

&L erh. 4,000 5,000 -
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enaWl(mLIY sTsSmLY, edlFunissliui(Hib

Sirey wli em. 30,000

QunsHESTw wIHNFS G, eSlTumssIL@LD

Siey wiiy 3,000
LS
el LIl Qrnésid
Qeg58isHEIw iHnIES O

enaull(BLIY FT&EE (HLIENLI S|eDL_LOTETLD 6neUSE)

Cupm SL_6v1
Ogmplev fElwimes BL_L LD
PLPEVGEBTLD

Gurig epevwd gHUL L BLL LD

17

B- B-
40,000 -
4,000 -
15,000 -
500 -
- 6,000
- 25,000
10,000 -
- 34,500
5,000 -
99,500 99,500
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21.

eh. 10,000 wiliyenLw wrHnEflen eui sley
OCaLdlenpry, & 1q601 158 em. 3,000 IMHLSSHEMEMLD HDDHSTE
wISng. st STy HN&ms LHNHID LUHOHIS GeOD
sem1sems . GGuT Clesemearuiey sudflliugns smd Swmy

Qsws.

A coal company owns lease of a mine of a royalty of
Rs. 2 per ton of coal raised, with a Dead Rent of
Rs. 40,000 per annum. The agreement provides the
lease with the power of recouping each year’s excess of
Minimum Rent over Royalties out of the royalties of
the next two years. The output for the first five years

was as follows :

2001 — 2,500 tons
2002 —12,000 tons
2003 —20,000 tons
2004 -30,000 tons

2005 —30,000 tons

Write up the Minimum Rent Account, Royalty Account,

short workings Account and the Land Lord Account.

18 AFN-1356




Q(H ,6TIg M T6N GlLONSS euL_ems erh. 40,000 eT6vTa|Ld 6(1H
Lest Hlevasfla@ sruyflenbwns ep. 2 eemelbd eLIL|S
QamemeriLl_(H @ Hevssfl HMLD QM &IRSSMS
&S558, Clanewt(Hemeng). UILIKSSHS 6L eubleumn(m
OGN G GHMDHS I 6T6] UL M en w6l
F s 2 6en Cgremsemw sruLflenws@ Gueons
D55 Prev yewhsafer Clumb yFlsMmsams
QlarewsT(H6MeNE). (PSHEV WHSI 6651 (D& EHSHSHTE 2 DHLISS
S esteu (HLOMM) :

2001 - 2,500 Levrsem
2002 —12,000 Levrsem
2003 —20,000 Levrsem
2004 —-30,000 Levrserm

2005 —30,000 Levrserm

SHODHS 66 CUTL DS HEWTeH &), SMLL|Flennd &evwTs @),
&emme] Caiemen yeme s sHemta @, LHMID Hlev 2 Fflemowimemy

S6w18E pFWeainenns Swny lFuls.
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22. The Agra Branch of the National Industry Limited sent

the following Trial Balance to the Head Office on

31.12.2005

Sundry creditors

Sundry Debtors

Cash on Hand

Furniture

Stock on 1-1-2005

Purchases

Sales

Goods from Head Office

Goods returned to Head Office

20

Cr. Cr.
Rs. Rs.
— 8,600
12,000 —
6,250 —
1,900
2,250
66,450
— 1,12,500
34,000 —
— 2,250
AFN-1356




Cr. Cr.

Rs. Rs.
Wages and salaries 5,500 —
Trade Expenses 5,250 —
Head Office Account — 10,250

1,33,600 1,33,600

The stock on hand on 31-12-2005 was Rs. 5,200 close
the books of the Branch and prepare a Trading and
Profit and Loss Account in the books of the Branch. Also
prepare the Head Office Account.

Creagerred HimiwsdHenr op&rnm SHemem  Nestoupid

@muurnienes 31-12-2005 gem Fmevenwd

IINIUVSESIH NG SieILILNwig).
W) W)
LHO) ure
umLIeo &LevslbCsmyasem — 8,600
LMLI6Y &L_evstmerflaei 12,000 —
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. W)
curey LHO)
eaul(mLiLy ClrT&sLD 6,250 —
S|EOMSHEV6ETT 1,900 —
1-1-2005 mrenemrenmwt Fr&dl(HLIL 2,250 —
Qlamem(Lpg60 66,450 —
eNlmLiemevt — 1,12,500
FHEEVEMLD JVI6UEVSHSHH 60 (G ClumLILIL L
155 34,000 —
FHEVEMLD V| UVSSIHM @G Sl (HLIL
SILILLLL L 575 — 2,250
serl WD LOHMILD &6l 5,500 —
Nwrunré Claevey e 5,250 —
22 AFN-1356




SEMEVENLD | 6V|6UEVSHE: &HEVITE(S) — 10,250

1,33,600 1,33,600

31-12-2005 mrementenmuw enaull(pLiL #raElmLiy em. 5,200.

Slenemullest sevv18E) 61(NGHEM6T (Plg 58 Sememulest ex(pserfled
elwruny woHmIb Georu - BL L Seisens Swy GlFis.

G FMEVEMID VIS HETTHENSW|LD SWITT ClFIs.

skkok
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AFN-0178-A BCO4A1

B.Com. DEGREE EXAMINATION, APRIL 2011

Commerce

BUSINESS AND SOCIETY

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

Section A (8 x4 =32)

Answer any eight questions.

All questions carry equal marks.
1. What is business ? What are the characteristics of

modern business ?

auenflad eteormmed etestenr ? meSew  euewfl s g Sl e

Folifweoyser wrened ?

2.  What is meant by Business Ethics ?

suenfla QmDl(penm eTesTMTE 6T6TTEN ?

3. What is International Monetary Fund ?

#reuCGge mrewrw K1) etearmmev eT6vTES ?



What are Public Sector Undertakings ?

CuNgISZIenD ElMICIETRISET 6T6TDTED 6T6uT6T ?

What is meant by Privatisation ?

Sesfl Wiy LWIDTS@EHF e 16T M6V 6T6vTEs 2

What do you mean by Ecology ?

GLwhlened uied eTaTmTeD 6TESTES ?

How are industries responsible for water pollution ?

Qarfipsreneosenmed eTeueumm B QL STTHIG6T

&L O Slemest ?

Explain any five benefits of Multinational

Corporations.

uesteniL_ (D& sLpsmiseiflesmed exHLI(HID HestenLoss 67GHem)LDd

BHSenew 611955
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10.

11.

12.

13.

Define Economic Development.

Qunerngmy GuwburH—euenrumi.

How should the natural resources be utilised ?

Bunens eueTmIGeT sTeueuTm| enswmerLiLL Cealswr(HId ?

Explain the Biotic and Abiotic factors.

2 ullmeten snrewflaer, 2 WlrHm srrenflasT elens@s.

What is Sustainable Development ?

Blrhgrwrer CuobLr@ sesmme sTestew ?

Section B (3x12=36)

Answer any three questions.

Explain the components of Internal Environment of

Business organisation.

Qamflev Kmieuengdlest 2 L Lm& @Lped LGSl smensr eleufl.
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14.

15.

16.

17.

18.

Bring out the importance of environment analysis.

SEONILLDE GLP6e0 piedlen (PSEWSH USMSS FnmIs.

Explain the philosophy of socialism.

FLDSH G| 61555 G UG5S 6X618 EH5.

What are the methods of Privatisation ?

gesflumy wwions@sedest LeoCeoumn) auensser wWreneu ?

Discuss the global entry strategies of business.

2 08 eunenflLsHlev HewPeauGHEHTeT 6Ll (Lpen M em e
eNlens @ s.

Write the obstacles of social responsibility.

gopall QUMM e SenL_ge wreneu ?
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19.

20.

21.

22.

Section C (2x16=32)

Answer any two questions.

Explain the provisions of Environmental Protection Act

1986.

FOMIEF GV UMHSHTULE &L 101986-601 LevGoum)

375G SaHen6r ellaulfl.

Discuss the Pros and Cons of globalisation.

2_EVSLOUILDNEEHSH60168T HETTENLD, SHeMLDGHEN 6T 6X161HE)5.

Explain the Social responsibilities of Business.

Qamflev Klnieuesmseflen sepas QUTMILILBemem eleulfl.

Explain the role of Multinational Corporations in

developing countries.

euenp BT seafled e (B Hlmieusmgeafles Lk
umnl eSleurl.

skkok
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AFN-0179-A BCO4A2

B.Com. DEGREE EXAMINATION, APRIL 2011

Commerce

ENTREPRENEURSHIP DEVELOPMENT

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

Section A (8 x4 =32)
Answer any eight of the following.

1. Define Entrepreneur.

Qafled (pemesiGeoum—euenyuimi.

2. Expand DIC.

DIC fleun&aid gmHs.

3. What is Project Report ?

S M&ens e16sTHT6D 6T6vTORT ?



What is meant by Industrial Sickness ?

Qamflev meSle TerTm M6V 6T6vTEN ?

State any four institutions financing entrepreneurs.

Qarflev WemerGaunma@ K 2 gail QFuub gCsenibd
Besi@ Hmeuemigeflesn GlLUWT Foms.

What are the different types of entrepreneurs ?

Qaflev (pemerGourflest LeOCoum| euenSESHET WTeHEL ?

Explain Peter F. Drucker’s views on entrepreneur.

Qarflev (wewesiGouny @GMS& LT 1q5&Sles &(HGS &6

wmremeu ?

What is SWOT analysis ?

LI6VLD, LieveSeid GNSs Li@LILIMLI6Y 6T6smmey 6T6sT6wt 2
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10.

11.

12.

What are the subsidies given to women entrepreneur ?

waefly Qe (WemerGounhs@ eupmsLILI(HWD LT

2 gellger wremeu ?

State the advantages of individual proprietorship.

sesflpuy elwruny flnieuengglen Bestenioger wneneu ?

What are the factors affecting location decision ?

em ogmnfle fneasdng QP CsrnolsHsEWw

Cung) seuesgglev Clamerem Gouetsriquw snrenflasT wreneu ?

What is Working Capital ?

HENL_(LPEMD PLPEVSETTLD 6T6TTMTED 6T6UTEUT 2

3 AFN-0179-A




Section B (3 x 12 =36)

Answer any three questions.

13. What is the procedure involved in starting a business ?

14.

15.

Q@@ OCamfled OgTLmi@eug FLUBSWLIS NleTLMHM

Ceuetnriqui HewL_(LPENMSBEIT Wiemeu ?

State the meaning, importance and definition of

entrepreneurship.

@ g mifl 60 (pemese|-6lummer, Y5 Ew g e

6UmTe16V5HSHETTLD &(HS.

Discuss the role of SIDCO in entrepreneurial

development.

Qamflev (pemerey Guwum_iged S Carelles Lk GNSE

61(LDSI5.
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16.

17.

18.

19.

Draw a format of a project report.

Q@@ L nsensullen widlfleows swry ClFis.

What are the functions rendered by Centre for

Entrepreneurship Development (CED) ?

Qamfleo (emesrGeuny GubUT_(H EHLWID S MHMHETn. gLl

uessflasm wremen ?

What are the remedial measures for industrial sickness ?

Qziflev medleneu GLITSGeugmSTes LIFISTT BL 61l SHEHSHSBET

wmremeu ?

Section C (2x16 =32)

Answer any two questions.

What are the functions of an entrepreneur ?

Qamiflev (emesrGeuny gy mm Ceuevwriqi Liewflger wimeneu ?
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20.

21.

22.

What is Project appraisal ? What are the different

methods used for it ?

S L wdS® eterrmmed etestent ? Sl wHLSL 1q601 Liew

(pemmaemer edleull.

Give a note on role of women entrepreneur in economic

development.

Cunmemigy euenjEfuiled waerfly QgTled (WemerCGoumflest

LIRI@) GNISSI 6T1(DSIS.

State the functions of TIIC.

TTIC-6t1 Lewflaem wremeu ?

skkok
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AFN-1357 BCO5M1/BCC5M1

B.Com/B.com. (C.A.) DEGREE EXAMINATION
APRIL 2011

Fifth Semester
Commerce

CORPORATE ACCOUNTING
(Common for B.Com./B.Com. (C.A.)

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

Section A (8 x4 =32)
Answer any eight of the following.

1. Explain forfeiture of shares and its accounting

treatment.

UGl uflpsed umdluyd Hen &ewrs Sl weo
OSWIMEHSH6L LIHMlud 66 @s.

2. Give an account on the types of debentures.

sLefl_(OL ugglrrseflen cuenasst LDDH Fons.

3. Explain the guidelines on redemption of debentures.
sLeaf_@LU usdlrmset 154F FbUBFLWLT6T

RQEMl(penrmaenet 6Xl6ns@s.



What is the accounting treatment made in the books of
vendor on acquisition of business ? Give specimen of

journal entries.

Nwrury eTQUUSSHTET SHesTHS W60 608 Wl M6 S 6w 60
A Cumy egaefled steusunm CuopOareremiiLGS DG ?
wrdfl GHLCL®H FmHs.

Explain the contents of financial statements of

companies.

1B m) 6 6511 & 61fl 60 15 & Hl e 60 111 & 69 & ul ev1

2 66L& B mIGEN6T 6X6ME(&5.

Briefly explain the methods of valuation of goodwill.

westdlLiL LS (B euenagsener 6ll6ens@s.

What is purchase consideration ? How it is calculated ?

Ql&TeM(PSEV LOMILILIEST 6TESIHIEY 6T6UTEN ? SiF| 6TeUEUMM)]

sewiaSl_LLO S ng).
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10.

11.

What is internal reconstruction ? State the accounting

procedure for it.

2 61T LDM)| 2 JEUNSSLD 6T6STLIG| WG] ? DI SMSBMEVT &6voT8 5 Ul6d

EOSIIMETSH60 6T6UT6VT 6T6ITLIENS & )|,

Write a note on the powers of liquidators and his

remuneration.

semeoLiLmemflen iFlamyw wHmID 2erSlwid upsl @GnloLy
UM

What are the formalities to be adhered for capital

reduction ?

ppevge @GHenpLlllnaner Caoenelwinest KHenL (Lewma s

wmremeu ?

What is underwriting of shares ? State the rules

regarding it ?

UBI@GseT Werem UM eetug wrg ? e

FLOUBSIOMET FL_L_LD WG| ?
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12.

13.

14.

Explain the accounting procedure for issues of shares

at par, discount and premium.

LIkI@sener (PawdlLiley, semepLiguiley, (pemest wSlieo
QeueflllPeugmaEnes SHewTES W60 698 W M6 S 60 & 6w 61

eNlens @ s.

Section B (3x12=36)

Answer any three questions.

Each question carries 12 marks.

What is liquidation and how statement of affairs is

relevant to it.

semevLiL| eTenTLIg wngl, CeYIDd Blgeliqgsens LI 1guied

SM(S) 6Teuaunm)| FUBSLILIL (H6meng).

Explain amalgamation and absorption in detail.

FFFEDLOLIL| LODHMILD (68T S605560 LM eufleuns eXlens @s.
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15.

The S Ltd., issued 40,000 equity shares of Rs. 10 each
and 30,000 12 % preference shares of Rs. 100 each

payable as follows :

Equity shares Preference shares

On application 2 20
On allotment 4 35
On first and final call 4 45

All the shares offered were subscribed for by the public
and cash was duly received. Pass necessary journal

entries to record the above issue of shares.

‘@ eBlGlL_L_ 40,000 &b LKIEGSHDET QeTMI&HE ¢H. 10
sermid woHmd 30,000 12 sgaldls Wesenflenn
LB @GSeneT @eatmi&é@ oah. 100 eermib Qumieusns
Spaerteurn GleuefluliLg.

&0 LIBIGS6T  (Westenlflemin Liri@ser
eNleswrewtingSles GCung 2 20
815G e 61 GLing 4 35

560 wHMID BmiS
SempLiflenrGung 4 45
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QamM&asLLL L. mesISg LIkI@GHSHEHD 6lLIMEILDSS6Te0
ghgt Cewuwlul @ uewb efldasliulLg. LBiE@

QeuefluSi_igmaresr (pan GHBLCLE SHsS.

16. K Ltd., issued 1,000, 8 % debentures of Rs. 100 each.
Give journal entries in the books of the company, if the

debenture were issued as follows :

(a) Issued at par, redeemable at par.
(b) Issued at a discount of 5 % repayable at par.

(¢) Issued at a premium of 10 % repayable at

par.

(d) Issued at par, redeemable at a premium of

10 %

(e) Issued at a discount of 5 %, repayable at a

premium of 10 %

Gs &Slib 1,000, 8 % sLeafl_(HU uSSrrisensT cesTm)
eh. 100 eteorugnas GeusfllilLg. kg Hmeuersses

ghsafleo sLafll_ U usdriusemer Spaewr_eurm
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GleusflullL_L_mev sTeusunm (Wam GNLUGCUTH Q&wwiiL@b

6TEVTS, (1HS.

(o) OeuaflulliL g H@mwul Qupliul L gw (pss
MY NTR

(=) QeuafllliLg 5% semepuiquied Sl@pbuL
QupLiul L g s wlillev.

(®) QeusflullL_g) 10 % ewert w1960 Hl(HULILI
QupLiul L g s wlillev.

() s wdHlule CQeusfllll@, 10 % enew
wSllileo SlEoul CupliuLl L g).

(2) 5 % senepuiguiled Gleusflull (B, 10 % wemest
wSllileo SlEoul CupliuLl L g).

17. Average capital employed in ‘Karta Ltd., Rs. 35,00,000
whereas net trading profits before tax for the last three
years have been Rs. 14,75,000 ; Rs. 14,55,000 and
Rs. 15,25,000. In these three years, the Managing

Director was paid a salary of Rs. 10,000 p.m. But now

7 AFN-1357




he would be paid a salary of Rs. 12,000 p.m. Normal
rate of return expected in the industry in which ‘K’ Ltd.,
is engaged is 18 %. Rate of tax is 50 % Calculate
good will on the basis of three years’ purchase of the

super profits.

s75an1 bl g6 grnefl wpwseSH em. 35,00,000, g6
S epenm)| pevuriqest Hlay eSlwmumy Georud eufls s,
(peweniy . 14,75,000, em. 14,565,000 wpmith em. 15,25,000
AGW. Qbs e yevwThsefled igemm GeoneiTenio
Qus@ni ep. 10,000 wrs&F UMD GIUMHMIT. Iy 6sTTeL
SHGLTG 3j6uly G FbLeTD eh. 12,000 Qumieuny. SF&sT
S ruL(etem GamfleSen grrafl wWpHeS B LB
gzeildlan 18. eufl 50 &gb. BFHWSLeHL ePeTM uHL
3158 QeorugSled ClLneusTs Hevad(Hs.
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18. A liquidator is entitled to receive remuneration @ 2 %
of the assets realized and 3 % on the amount distributed
among the unsecured creditors. The assets realized
Rs. 70,00,000 against which payment was made as

follows :
Liquidation expenses Rs. 50,000
Preferential creditors Rs. 1,50,000
Secured creditors Rs. 40,00,000

Calculate the total remuneration payable to the

liquidator.

QM smelureny Qsrsgs el9nmesled 2 % wHmWD
i wrevdleveon sLevihCaHnmas@ eupmiSlwu Cgrensuled
38 % eafuw Qup sFGHFHwemeneuy. Clansg &sen
eh. 70,00,000-8@ eIpsn Qupm S e ®mHhal
QlFISFLILIL_L_m6u SLpeHLOm).

semeuLiLE OlFeveyser em. 50,000,
weveniflemid sLevfbCmy em. 1,50,000,
SiLwrevrd Glumm sL_efbGHy em. 40,00,000

SemeoLILITEN(HS &) Clea) g Ceuetvniqw eardluid sewtsSl(H\s.
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Section C (2x16=32)

Answer any two questions.
Each question carries 16 marks.

19. Write short notes on :

(a) Profits prior to incorporation.

(b) Callsin advance.

(¢) Ex-interest and cum-interest redemption.

(d) Form offinal accounts.

dml @MY euenrs :

(@) Cammnielline whesw Qeomuib.

(=) petman_igCw GluHD SjemLpLiLy.

(&) euliquyL et wHMID euquflesp By

()  Bmidls sewwrd @ Ligeu.
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20. ‘Sony’ Ltd., is absorbed by ‘Sharp’ Ltd., the

consideration being :

(a)

(b)

(c)

(d)

(e)

The taking over of the trade liabilities of Rs.
40,000.

The payment of cost of absorption of Rs. 15,000.

The repayment of ‘B’ debentures of ‘Sony’ Litd.,
of Rs. 2,00,000 at par.

The discharge of ‘A’ debentures of Rs. 3,00,000
in the Vendor Co. at a premium of 10 % by the

issue of 8 % debentures in ‘Sharp Ltd., at par.

A payment of Rs. 20 per share in cash and the
exchange of 4 fully paid Rs.10 shares in ‘Sharp’
Ltd. at a market price of Rs. 15 per share for

every Rs. 50 share in ‘Sony’ Ltd. which was
40,000 in number.

You are required to find out the purchase consideration.

11 AFN-1357




gl e Genefl 6l -gy myly Qeuss SFsmHaTeT

LOMILOUI6HT &LDS6ETTTL_6UMM)) :

(1))

(=)

)

()

()

Awrury QurmliysseaT gnaslLQUDHMDE

. 40,000

rryemwLiL GlFeve &6 em. 15,000

Corefl 9 ‘@ sLaf(U usdrrsen

B sliu’ L g em. 2,00,000 pawdlLidlev.

>

puenesr Gewww HneersHer ‘g
sLef_(hl usdlrmser ep. 3,00,000
wdlLiSlevnenestemeu 10 % (pewest wSlLibed amiL
SLLenr 8 % sLeaflGU usSSrmserfler

wawSlliieo eupridl flsas L Liul L g).

eeu0leun(h LRISIN@LW ¢mh. 20 CTTSSHLD HMILD
eh. 15 ghemg wHllGeorest em. 10 (PpeugId
Qee)saliul L #ril eSl LIBI@GHS6T HIerens
Carefl 69 em. 50 wdllifeones epeubleun(m
uRfn@n euprdwg. Cwrss Geresfl a5l

Lkl gsem 40,000.

Q& ET(LPS 6D LOM)LIUIENETT &6VTERSL_61LD.
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21. ‘A’ Limited was registered with an authorized Capital

of Rs. 6,00,000 in equity shares of Rs. 10 each. The

following is the “Trial’ Balance on 31st March 1998.

Trial Balance

Good will

Cash

Bank

Purchases

Preliminary expenses

Share capital

12% debentures

Profit and Loss Account (Cr.)
Calls-in arrears

Premises

Plant and Machinery

13

Debit
Balance
Rs.

25,000

750

39,900

1,85,000

5,000

7,500

3,00,000

3,30,000

Credit
Balance
Rs.

4,00,000

3,00,000

26,250

AFN-1357




Trial Balance
Debit Credit

Balance Balance

Rs. Rs.
Interim dividend 39,250 -
Sales — 4,15,000
Stock (1.4.97) 75,000 -
Furniture and fixtures 7,200 -
Sundry debtors 87,000 -
Wages 84,865 -
General expenses 6,835 -
Freight and Carriage 13,115 -
Salaries 14,500 -
Director’s fees 5,725 -
Bad debts 2,110 -
Debenture interest paid 18,000 -
Bills payable — 37,000

14 AFN-1357




Trial Balance

Sundry creditors

General reserve

Provision for bad debts

Debit Credit

Balance Balance

Rs. Rs.

— 40,000

— 25,000

— 3,500

12,46,750 12,46,750

Prepare Profit and Loss Account, Profit and Loss

Appropriation Account and Balance Sheet in proper

form after making the following adjustments :

(a) Depreciate plant and machinery by 15 %.

(b) Write off Rs. 500 from preliminary

expenses .

(c) Provide for 6 months interest on debentures.

15
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(d) Leave bad and doubtful debts provision at

5 % on sundry debtors.

(e) Provide for income tax at 50 %.

(f) Stock on 31.3.1998 was Rs. 95,000.

‘S’ 9L em. 6,00,000 ¢m. 10 LI FTSHTTewT LikIESemer

Canewi. eniwdsasliLl L ppegesid Glaneur( LSley

Qewwiiul’ L g. S sruul(Heren @Liumie| 31, wrj&

1998-333601@.

@muumie]

BHWSY
Qrr&sLd
ounidl 6w &,
Qlamem(Lpg60

QgM_&&& Glgeveyser

16

upml eurey Sy

Sy em.
25,000
750
39,900
1,85,000

5,000

¢h.
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@mwuumie]

LIMI(8) PLP6VSEBTLD

12 % sLefi_ U usSHrriger
Qoo BLL sevw1s@) (eurey)
curGeuesuTiqul SiemLpLiL| eUeTTSLD
Q6D

QukpSlrbd 1HMID FemeurL_Lb
BenL_58M60 LIBISTSHTLILD
epHuenest

75 (1.04.97)

SIEMSB606T HMILD Hlenevs6
LMLI6Y &L_evstmerflaei

&6

ClungClFeve g6

17

uHol  eurey Gy

Smuy em.

7,500
3,00,000
3,30,000

39,250

75,000

7,200

87,000

84,865

6,835

¢h.

4,00,000

3,00,000

26,250

4,15,000
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QUNL_69& LOMHMILD UETITIQF FSHSHLD 13,115 —

FLDLIETTLD 14,500 -
Bwis @ e &L _6vwTd 5,725 -
6UITITE &L_60T 2,110 —
sLeaf_(Ol usHr eul_ig 18,000 -
CleI5gI5NES lw LIHnIFS_(H - 37,000
umLIeY sL6vfhbCHy - 40,000
Clurgleunest e&155([H - 25,000
QUITSSL_63T 625158 - 3,500

12,46,750 12,46,750

spaevL flal_(hasener ConOarew(h, @eoru mLL
sew1s G, Qeoru L CopsewsE wHMIL mUy
Blemevs @iy swny Clauwis :

(@) Qupdlrb wHmib semeurid 15 % Gsuiwmesid

QULPMEI(S).
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(b) Qan_sss Cseveayserfley om. 500-25 Goblev(Lpd)s.

© sLefl@u usdlr eully YnwLISSHDHE

2_(HeUNSGH5.

d) upue sLefBLCsTT 155 &HI&s 5 %

Cunolsres.

(e) eu@pmest eufl 50 % euLpmiEHs.

) ersdl@miy 31.03.1998 gjemmy em. 95,000.

22. The following is the Balance Sheet of ‘U’ Ltd., on

31-12-1998.

Liabilities Rs. Assets Rs.
Share Capital : Goodwill 45,000
6,000, 6 % preference Land and building 6,00,000

shares of Rs. 100each  6,00,000 Plantandmachinery  9,00,000

12,000 equity shares Stock 1,30,000

of Rs. 100 each 12,00,000 Debtors 1,40,000
19 AFN-1357




Liabilities Rs. Assets Rs.

8% debentures 3,00,000 Cash 15,000
Bank overdraft 3,00,000 Profit and Loss Account 7,00,000
Sundry creditors 1,50,000 Preliminary expenses 20,000

25,50,000 25,50,000

On the above date, the company adopted the following

scheme of reconstruction :

(a) Theequity shares are to be reduced to shares
of Rs. 40 each fully paid and the preference
shares to be reduced to fully paid shares of

Rs. 75 each.

(b) The debenture holders took over stock and

debtors in full satisfaction of their claim.

20 AFN-1357




(c)

(d)

(e)

The land and buildings to be appreciated by
30 % and plant and machinery to depreciated
by 30 %.

The fictitious and intangible assets are to be

eliminated.

Expenses of reconstruction amounted to Rs.

5,000.

Give journal entries incorporating the above scheme of

reconstruction and prepare the reconstructed balance

sheet.

2 6SlL_-6u1 31-12-98 o4 1b yevr(h) QLY Hlewevs @GplLiLy

SLPSETTTL_eUMM)]
CummLiLse. erp. ClFns g5 56T erb.
LIBI(S) PLPEVSEUILD : BOWSILIL 45,000
6,000, 6 % 6,00,000 @6\)[0 LDﬁ)Q]L'D sl b 6,00,000
(pevten)flenoLs Liki@aer 100 BQuikdlrd [ semeur_id  9,00,000
efg 12,000, &1 2 flenioL FTS(S) 1,30,000
LIi@a6T ¢h, 100 edgd  12,00,000 sL_evmerflgsi 1,40,000
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CurmyLiLger. erp. ClFns g5 56T erb.

8 % sLel_(HIL1 LgHlrmaset 3,00,000 Qrrsasn 15,000
eumid) Gio/6u 3,00,000 @\(mLIL| Hevw1és, 7,00,000
LDLIeV SL_6sihCsHmy 1,50,000 Qgn_sa& Clgeveser 20,000

25,50,000 25,50,000

CopasewL GCadluller, Spsewr. wn Frevwiiy

blg6ulgHensseneT JibHnieuen GuonoleresrL_g).

(1) &w 2 flenwl ep. 40 Weug b CFSIL
CQuDDHETSHEYD (PertaFlewiolt Liki@as6T eh. 75
YEagn Oemssu  CuDDSTSEe D

&on&aLiLL Ceuesur(HIb.

() sLef (U usHrsriser Frse LRISTS
FrHenasWd sLenaflsemetud abHSHH S

O\& T6ToTL_M&61T.
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(& MHeowd wOHmMID, gL b 30 % e
Quipdlrb wHmib gemeurb 30 % GHHDSSILD
w8 Ceuessr(HIb.

(F) sewaméH@L HeoluLn wpnib Gluwrereys

Qensgss6m BosLiLiL GCelemt(HIb.

(2) wLoFTewLLLE CFeveayssT em. 5,000.

Copasew wLofremwlysE wWsn SHHuGu@b,
wniErenwliy Uy Hemevsd @mMILiLb Swry QFuls.

skkok
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AFN-1359 BCO5M3/BCC5M3

B.Com./B.Com. C.A. DEGREE EXAMINATION
APRIL 2011

Fifth Semester

Commerce/Commerce with Computer Applications

MS—OFFICE
[Common for B.Com /B.com. (C.A)]

(Non-CBCS—2004 onwards)
Time : 3 Hours Maximum : 75 Marks

Part A (8 x3=24)

Answer any eight questions.

1. Explain about WINDOWS.

‘eNeufl’ —WINDOWS,

2. Whatis Short cut bar ?

Short cut bar—sreormmev etestenT ?

3. Whatis database ?

el S6MLD 6TEBTMTEV 6T6BTET ?



Explain about spell checking.

UTTSHenSHen6 &ifl ©lFul560—6 618 @ s.

Explain Autofit.

“GwUNHSSHIHe0 —66Nd & S.

What is Formula ?

GSS|TLD 6T63THT6V 6T6TTENT ?

Explain Auto Format.

Auto Format—elleng@s.

What is the advantages of power point presentation ?

Power Point Presentation—esr Liwiest stesreor ?

2 AFN-1359




10.

11.

12.

13.

What is worksheet ?

S VIEUEVS: I|L_L_61656TTT 6T6TTMIT6D 6T6TTET ?

Comment on primary key.

(PS6sTemd &L Iq-LINMHIS GBILIL euenTs.

Explain adding records in a database.

lur sengglev nsensenw steueunmy CayliLimi.

What is report wizard ?

Report Wizard —erestmmev et6vtewt ?

Part B B3 x9=27)

Answer any three questions.

Explain about MS-Office application.

MS-Office application—eden&@s.
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14.

15.

16.

17.

Discuss headers and fooders with heat examples.

SHEHEOWRISID OHMID JIGWRISD UDD 2 FTTewTSg) L 6st

efeund).

Explain about creating and Copying a Formula with

example.

G&SSTEISED6T 6TLILILG 2 (HeUT&HG6eUg) LHN)ILD HHoleo(HLILIZ

ETEUTLIENS 2 FHTT6evtTSGIL 65T 6l 61éh ().

What is Table ? Explain in detail about creating a
table ?

S|L_L_6LEDETIT 6TEITMT6V 6T6TT6TT ? L_L_616METTTEmILI 6TLILILG

2 (HEUMSHG6UG)| 6TEUTLIENS, 6Xl6TTSEH 5.

Explain in detail about querying a databse.

Querying a database—eSlens@s.

4 AFN-1359




Part C (2 x12=24)

Answer any two questions.

18. Discuss in detail about MS-WORD Applications.

MS-WORD- 6 nwestur(@aemsmls umnil eSleund).

19. Create a worksheet which contrains sales figures of few
items of four regions (North, East, West, South). Display

the result in a heat diagram in Excel.

eNlnLIemen L euemesien 2 (Heunsdl, jeng LIL $CHT(H

eNlens @ s.

20. Explain the following with an example :

(a) Selecting a range.

(b) Undoing and redoing.

(¢) Sorting records.

(d) Creating an autoform.
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SpsaeTaumennLl Limm efleulfl.

(31) etevemeven Cgikols[HSH60.

(<)  Qawweompedinisse wHnIb SlHwuE Claige.

(&) SsusmiIsmeT 6uflenFiLI(DSSISH6.

(FF)  &W UIqeuSens 2 (HalsEHSHeV.

21. Create a database for Storing employes information.

Design a pay bill report for the database.

Qarfeoneflaeflen saeaucvaenst CallliLgHaTET FHBH6r60

FHENSHMS 2 (HeUTSHEG). IbS HH6UED FHenS5Hed)(Hbg FLOLI6T

UL Iq WIEVISBT6ST D SH6mSeml 2 (hHeUTE ).

skkok
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AFN-1360 BCO5E1/BCCO5E1

B.Com./B.Com. (C.A.) DEGREE EXAMINATION
APRIL 2011

Fifth Semester

Commerce / Commerce with Computer

Applications
COST ACCOUNTS
(Non CBCS—2004 Onwards)

[Common for B.com/B.Com. (C.A)]

Time : 3 Hours Maximum : 100 Marks

Part A (8 x4 =32)

Answer any eight questions.

1. Define Cost Accountancy ?

SIL556N6m60 &6TtT&HS W 60—auenTWID).

2. Define “Cost Unit”.

“SIL 85616060 160@& —eauenTwim).

3. Define “Capital cost or Capital expenditure”.

“eLpeVgETT IL_SBLD 3I6V6VG) PLPEVSENE OlF6V6| —euenTIIMI.



State any four components of Material Control.

QunmeT sL_(LLT 65 LGS sem sCHemIbd Bremdlenesis
Qs fled.

Define “Re-order level”.

“Iom)| oy E06TT 366 —euenTI).

State any four departments which are controlling the

Labour cost ?

Rz iflevnsmy ClFevelleniigenens L (HLILINSSILD w6
Bresidleneus Ogfled ?

Define “Time Booking”.

“snev ugledlL_60"—euenruimi.
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10.

11.

How can you measure the Labour Turnover by using

Replacement Method ?

ufleS® wepemwl LweatuBSH O rhleomeni

SlpnHESlenw eTeuaunm| sevoTdhd (Heumil ?

State any four types of Overheads which are classified

on the basis of functions.

venfl gLt uled euemasliLGSSLILLL 61l Tenm

Clzeveys6 Beudlenenis 6l fledl.

Define “Selling Overhead”.

“elmLienes el TDenM OlFe6 —euemTWmI.

State any four features of “Job costing” ?

L1655f1 85 615718 5l W1 651 63T FH65T6EMLOS6TT TSI 66V Ton )| ?
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12. Define Normal Loss.

“engmyewst @i —euenrumn).

Part B (3x12=36)

Answer any three questions.

13. What are the objectives of cost accounting ?

ILssllenev sewsdlwedlen Crresmise wremeu ?

14. What are the essential features required for a good wage

plan ?

SIGLILIENL_& SnM)&6T WTEn6U ?

15. Two components X and Y are used as follows :—

Maximum usage 160 units per week each.

Minimum usage 40 units per week each

4 AFN-1360




Re-order Quantity X-400 units Y-600 units.
Lead Time X—4 to 6 weeks.

Y-2 to 4 weeks

Calculate for each component (a) Re-order Level
(b) Minimum level (c) Maximum Level and (d) Average

stock level

X wpmiw Y Qunmenset Spssesreumm LW e

LESsLLGEH DS

315& msT6e| eunrsSHnE) eeubleunssimin 160 960 @6
&ODHS BISTE| UMTSSDE @eiClaunemid 40 Sie0@Gs 6T
DM 60657 3j60(& X—400 j60@&6m Y —600 360 (&HS6T
FIMBHBMD X—4 (LPSH6V 6 eUMTEIS6T

Y-2 (psev 4 eunyrisem

eeubleunm Cunmefles L yemesr emey ; GHMDHS
Slene| hisfe| Sl Sene| misfe| wHNID errefl Gwmuy
Hlemev setst(HILYl1q H&H6|LD.
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16. “G” furnishes the following information for

manufacturing a product.
Raw material consumption—Rs. 15,000
Direct labour—Rs. 9,000
Machine hours worked 900
Machine hour rate—Rs. 5
Administrative overheads 0.50 paise per unit.
Units produced —17,100
Units sold—16,000 @ Rs. 4 per unit

Prepare Cost Sheet.

“G” etestueuy Speub eNleurmisemst 6@ Ol LITTHe6T

swrflliugmn@ ClanB&g)emenmi.

s&&m Glun@mer BIsTe] eh. 15,000

Crrig g6 em. 9,000

6 AFN-1360




17.

Bundlr wenflaeT 2_emips55 900

Buindly wewfl &6l em. 5
Bljeuns GFwevenbLliLy GlFeve] 20 % 2 HUSS L sa5H 60
epuenest ClFwevenioliL] Glgevey 0.50 epuign
Q@ QLINHEHSE 2 HusdHwnes QunmsTsst 17,100

elmuenenes GLmheTgen 16,000 eestmy oh. 4 65510

Standard output per day of 8 hours is 24 units Rate per
hour is Rs. 2.00. Calculate the earnings of the workers,
P, Q and R under Emerson’s plan, when they complete

15 units, 20 units and 25 units respectively.

@@ BreT (8 wewfl CrIL) F7 2 HUSH 24 60@FHB6T QR(H
wewfl Cry Fa6d em. 2.00. P, Q wpmiw R wpeopCuwr 15
SIVG&6T 20 Zev@S 6T OHMID 25 HeVGSH6T 2 NHLIGSH
Qewigmeo erwfaes HL L LiLig euiseflen eugprarsens

SH6UBTEHE L6 LD.

7 AFN-1360




18. A manufacturing company which produces special

water pumps supplies you with the following

information with regard to production and cost for may

2004.
Job-
500
Rs.
Stores issued 400
Purchases 600
Wages 500
Machine hours 50

Prepare the Job Cost sheet

Job-
510
Rs.

150

150

30

Job- Job-
560 580
Rs. Rs.
140 200

50 150
200 250
40 15

Overhead is absorbed on the basis of machine hours

and the hourly rate is Rs. 5. Overhead incurred during

the month was Rs. 1,000. Job No. 500 was completed

during the month and invoiced to the customer at Rs.

3,000.

AFN-1360




gevoresuty (GLmi 2 HuGS Qe e Hineuenssles 2004
261 GLo IS IiL_&8 elewev LOHMID 2 NHLSSH ClFeve]

YesTeu(BLOTM)| :—
uewfl- vewfl- Lewfl- Lewfl-
500 510 560 580
W) O W)
Seiuiul L Qunmeger 400 150 140 200
Q& meT(Lp S0 600 - 50 150
F.60) 500 150 200 250
Bundlr wesflCrrw 50 30 40 15

Cwev Geeveysst Qundly wellCrr g Llinenulled
sewiaFHLLLbBEngl. e wenfl Crr Carens ep. 5. IBS
wrgsdlev Gleuiinl L Guwed Glgeve] em. 1,000. Liewfl stevsr
500 w1 Wssiul® ep. 3,000 eresrn eflemevulled

QUG &ENS WITE(HES) HEDILILILILILL ).

uewfl 9L_ssellenev LI 1qu160 Swimy QlFuiweyb.

9 AFN-1360




Part C (2x16=32)

Answer any two questions.

19. A company has 3 production departments and 2 service
departments. The departmental expenses for a month

are as follows :—

Production department P, — Rs 800 ; P, — Rs. 700 ;
P; —Rs. 500.

Service department = S; — Rs. 234 : S, — Rs. 300

The percentage allocation of service department is as

follows :—

Service Department S;: 20% 40% 30% - 10%
Service Department S,: 40% 20% 20% 20% -

Calculate the Total expenses of production

departments.

10 AFN-1360




20.

@ Blniww 3 2 HusSH gemnaEnb 2 Caameu Glewna EHLD
Clanesi(heeng). @@ WISSSnaTen Genmeunfls ClaFevey
YesTeu(BLOTM)| :—

2 huss giewm : P, — em. 800 ; P, — em. 700 ;

P, — em. 500.

Ceemeusgienn : S, —em. 234 : S, —em. 300

Ceemeus gienpullen LIS () elldlgnganyn e morm).
P, p, P, S, S,

Geewau glewom S; : 20% 40% 30% - 10%

Ceemeuggieom S,: 40% 20% 20% 20% -

2 HLSGHS Glewmaase Clngs Claeenea sewad(h ClFuis.

In 2004 a factory supplies the following information :—

Material Rs. 6,00,000 ; Direct wages Rs. 5,00,000 ;
Factory overheads Rs. 3,00,000 ; Administrative
overheads Rs. 3,36,000 ; Selling overheads Rs. 2,24,000
; Distribution Overheads Rs. 1,40,000 ; and Profit Rs.
4,20,000.

11 AFN-1360




In 2005, a work order has been received and the
following expenses are incurred ; Materials Rs. 8,000 ;
wages Rs. 5,000. Assume the factory overhead rate has
increased by 20 % ; distribution overheads have gone
down by 10 % and selling and administration overheads
have gone up each by 122 % in 2005. Calculate the
Selling price assuming the same rate of profit on sales

in the last year.

2004 gy ewvtigmanen e Ggmfinsrensoules efleunmigern
S0 Qar(saLILL_(HeTeng) :—

Quner em. 6,00,000 ; Cmrg el ep. 5,00,000 ;
Qarfimerensy Glaevey ep. 3,00,000 ; fljeunass Glaevey
em. 3,36,000 ; elpLemend Glaevey em. 2,24,000 ; udljomest

Q&evey em. 1,40,000 ; Cuoepid GeorLitbd em. 4,20,000.

e Couemev yenewt 2005-29410 60T CILDLILIL_ (D 6wt
eNleurmiger :—Glunmer . 8,000 wHMID el em. 5,000 ;
Qamflnpareney Glgsva] 20 % 2 wWFh ; LSlFwrer ClFeea]
10 % @eophagiw, elpuenes wOHMID Kljeunrs GClaee

@aiOeunesmd 12%2 % 2 wihg b 2005 gy ewrig 60
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21.

sresTLUL L . Qg6 ellpuenen eflened Guimew 6u(hHLLd

2 _eitenm edlpLeneruiley oLl eflFLiLIG SHewHEH (D S.

Building Contractors Limited undertake contracts on
31st October 2003 when the actual accounts were
prepared the position of contract were prepared the
position of contract No. 101 which was commenced on

1st January 2003 was as under :—

Rs.
Material purchased 37,500
Wages paid 43,750
Materials in hand 1,500
Wages outstanding 625
Proportionate share of indirect expenses 1,875
Cost of plant 6,250

The value of work certified was Rs. 90,000 of which
Rs. 67,500 had been received, work completed but

uncertified was valued at Rs. 2,500.

13 AFN-1360




The contract price was Rs. 1,50,000. The plant on site
was valued at Rs. 5,000 on 31 st October 2003.

Prepare Contract No 101 Account.
Q@@ SLigL b s Himieued e GCousmevenw gmeveauf]

1-60 2003-60 TS5 H&HCLTLT 31-60 (PI4F55GI. 60T

ClFeve | eNlLITEIGET Y 6vTeu(HLOTM)| :—

erb.
Qamempgeo Clawiwiul L CunheTger 37,500
QarHssiuLl L g6 43,750
Qumnmer el Uy (&G 31) 1,500
QaruL Geuessrriqu gn6d 625
a1l Tenm GlFevey 1,875
Femeun_ Olgevey 6,250

gredlay CewwiiulL. Ceusmeoules wdliiy em. 90,000
dlev em. 67,500 QupliuiL g|. Ceuewev (Pig&sLILIL (A

greslsp ClupliuL g wdliiy em. 2,500.

14 AFN-1360




22.

uuUBS Ceusmeoules wlli em. 1,50,000 aGLmuy 31,

2003-60 gemeun_ @@Ly em. 5,000.

@LULUGBS etevsr 101 ulletT HemTHens:s SWMT GlFIwIaLD.

From the following particulars prepare Process Account

Process B and C receiving goods from A and B

respectively

Direct wages

Machine expenses
Factory expenses

Raw materials

Production (Gross)
Wastage
Opening stock

Closing stack

15

Rs.

640

360
200
2400
Units
37000

1,000

Process
B C
Rs. Rs.
1200 2925
300 360
225 240
Units  Units
1,500 500
4,000 16,500
1,000 5,500
AFN-1360




Wetreupd efleurrmsetlefBhal Lig Hleney sewwisens swy
GEweywb . ughleneo B wpmin C gienitintiu@ib Glunwer
A vpmb B ugfleneoufen 9Lsasemg (peomGuw 2_smemnsg.

Uiglemev
A B C
Rs. Rs. Rs.
Crig. g060) 640 1200 2925
Qupdlr Csevey 360 300 360

Qarfihareney Qgeve; 200 225 240

s&&nL Glummer 2,400 - -

SIVGFET  SEOGBHET eV GSH6T

2 I g4 (Qwrgsw) 37,500 - -

Gegnrwb 1,000 1,500 500
UL Eradl L - 4,000 16,500
Bnde srsdlmLiy - 1,000 5,500

skkok
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AFN-1363 BCO6M1/BCC6M1

B.Com./B.Com (C.A.) DEGREE EXAMINATION
APRIL 2011

Sixth Semester

SPECIAL ACCOUNTS

[Common for B.Com/B.Com. C.A]

Time : 3 Hours Maximum : 100 Marks

Section A (8 x4 =32)

Answer any eight questions.

1. How does rebate on bills discounted arise ?

sifle) Cewwiul L wiPnE F_Os6T 5F HeTEHLlg
sTeuaumm) 2 (Heum@GHSma ?

2.  Write a short note on money at call and short notice.

Sl wHMID GHniSw srev Lewtd LHH Hm GOl

6LI6MIS.

3. What do you understand by Life Assurance Fund ?

SpujeT sriLmiS Bl etesrmmed eTevTest ?



What is meant by reinsurance ? How is it helpful to

Insurance Companies ?
wn sTUSGH 6TTDHIEL 6TerTerr ? F 6THS 6Uems ullev

sTuLDIS Binieuenhisené s 250 8ng) ?

What do understand by reserve for unexpired risks ?
And state the percentages of reserve for unexpired risks

for marine insurance business.

sreoreudl &g @)L J &L 6165THT6D 6T6wTenT ? SHL_60

a1 19N @ e1E5Femen 56550 STeoneud y&1s QL

sl @gs8b oFwuw Ceaustor(Hb ?

State briefly the advantages of double account system.

BrlenL sesrsdlwed (Wenmullest HESTENLOSENET H(HS.

2 AFN-1363




10.

Distinguish between Single accounting system and

Double accounting system.

RDemD SHewisSlWed (PoODHGL QrienL Sewwtédwien

(PeOD&GLD 2 6em CeumiLm_enL S(hHs.

Write a short note on Development Reserve.

euengEdl sy upsl fny @OILY auenrs.

How would you ascertain the amount of Minority

Interest ?

miLimenenen oWl 6vT] [HEVEHENT 6T616UTM)| S6vtTdHE (D6l ?

Define a subsidiary company.

glemesut Hlm)Lob—euenTuim).
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11.

12.

13.

What are the different methods employed for the

valuation of goodwill ?

BHOLIWenT HewsraEl (D LGoaum| (WM& Wneneu ?

What are the factors that influence valuation of shares ?

uB@ wHlenu seusdl(Heueng LTHlsEGn &rrenflaer

wmremeu ?

Section B (3x12=36)

Answer any three questions.

How would you ascertain the amount of goodwill or
capital reserve while preparing a consolidated balance

sheet ? Discuss the advantages of holding company.

Qan@ssl ul L @mLuy Hlenevs @nlLiene swimflé @0
Qumpsl, BHCLIWT HeVevgl (PSESL_(H SMLIenLI 6T6 UMD

sew1ad (heumi ? g0 BiniwsSles Beeninger wnenel ?
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14. From the following details relating to Ahmadabad Bank
Ltd, find out the Net Profit earned in the year ended

31st March 2004.

Rs.(in’000)
Interest earned 3,702
Other incomes 455
Interest expended 2037
Operating expenses 480
Provisions and Contingencies 1,300
Profit brought forward Nil
Transfer to statutory reserve 68
Transfer to other reserves Nil
Transfer to proposed dividend 100
Balance to Balance Sheet 172

5 AFN-1363




Yesteupd gSaeueseafleNmibg, 31.3.2004. yem

SiswHTUNS eumdl Hniwsdlen Hlar eorusens st Llig:

e. ('000)
aul g GluMME) 3,702
81 eumHeumLIs6T 455
auL_ g CQFeveulfls 58 2037
BEOL(LPenm& OlFeve g6 480
81580 LOHMID Bl e 1,300
SL1hG (L EVMLILD Nil
gL sl wimnlwg) 68
Bsr smilng wrmnlwg Nil
LRSS @&|55L_19M @& rHjlwg) 100
BmLyHlener @MLLSNHE wrhHBluw eorLibd 172
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15.

The Life Assurance Fund of an Insurance Company
on 31.3.2006 showed a balance of Rs. 87,76,500. It was
later found that the following were not taken into

account.

(1) Dividend from investments Rs. 4,80,000
(i1)) Income tax on above Rs. 48,000
(ii1)) Bonus in reduction of premium Rs. 8,77,500
(iv) Claims covered under reinsurance Rs. 4,23,000

(v) Claims intimated but not acceptable by company

Rs. 7,62,000.

Ascertain the correct Balance of the Fund.

31.3.2006 gesmy @@ sruUMIS Hniwsdes oy ujem
a1 @ HHullerr @@Ly em. 87,76,500 . o5 QBHHSS,
Yesteupeueneupenm sewisdled e1(NGFHH Oamemenns g

SNDTHLONG SHevoriq HluILiLIL L &)
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16.

1)  paeSiigen 15g LBsTSWD ehH. 4,80,000
(i) CwlGeo @MU L 5@, euone euffl er. 48,000

(iii)) ewemwGHeo FRSaLLL UL eomul LIkIE

em. 8,77,500

(iv) wvmysruSiges PLp 6V LD gNOsww Ll L

Canflsenasser em.4,23,000

(v) Garilaemasst Hiniwsdng Qsflwiu@ssy UG
anmis Caneemng Canflasnasst em. 7,62,000.

gflwnen gujem srUS_ B Bl @mLieou sewt(® L.

The Delhi Electric Co, Ltd rebuilt and re-equipped a
part of their power-house at a cost of Rs. 80,00,000; the
part of the old power-house thus superseded had cost
originally Rs. 50,00,000 but if erected at the present
time would cost 20% more. Rs. 6,00,000 is realized from
the sale of old materials and Rs. 3,00,000 worth of old
materials are used in the reconstruction and are

included in the cost of Rs. 80,00,000 mentioned above.
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Give necessary entries for recording the above
transactions in the books of the company, indicating
the allocations between capital and revenue and give

reasons for such allocations.

Q6068 61651918 SHWOILefl eNANGLL, em. 80,00,000
Cgeeiler YgeenLw Wenery 2 HusSSH Wflene, wH
sL_Lenwliy bOHNIDL QukbSlrmsenst wIHM LS55
JsmiemLw uenwpw Werery 2. pusd Llfleneu
eh. 50,00,000. Glgevelley Clgm_mdluwig). Sieng sHelLNE
Qar_midlemer 20% 5655 Fn (D60 ClFeV6| I GLW. €h.
6,00,000 uenipw GlLnBL&ener eSlhLIEnesT GlFIISSH68T PLPEVLD
HewL_g58 ep. 3,00,000 wdllieren GlummLs6m M)
SLLenULsE Uwetu(hssUuLLg. ep. 80,00,000 60

Bemeu Qrevrr(hs @ CarsasliLl_(HeTeng).

CupempliulLemeudE, Hnwsdler LsHssemn serfle
Caemeuwnen @nLICLBsemen swiny Q&uwl. Goab (pseShH
LHMID eueuTl steueumm Wfl&sLU@D. 36ummbles

SNTETSHEDS 63618 G5
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17. H Ltd acquires % of the share capital of S Ltd on 31st

December 2005, when the Balance Sheets of the two

companies are :

Liabilities H. Ltd

Rs.

Equity Shares

of Rs. 10 each  2,00,000

General Reserve 50,000
Profit and

Loss account 30,000

10% Debentures 1,00,000

Creditors 50,000

S.Ltd

Rs.

1,00,000

30,000

20,000

50,000

20,000

4,30,000

2,20,000

Assets

H.Ltd S.Ltd

Rs. Rs.

Sundry Asset 2,00,000 1,20,000

Investments :

6,000 Shares in

SLtd

75,000

4,30,000  2,20,000

You are required to prepare the Consolidated Balance

Sheet as on 31st December.

10
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31.12.2005 - jeormy H. Ltd, S.Ltd-esr uki@ pseSiig60
LUBiens alemend@ eaummdwg. 56xHule0 B
Bmivrisefles @m@muy Hlewevs @mlly Nemaumwmm) :

GlurmyLiLger H. Ltd S.Ltd Genggsen H.Ltd S.Ltd

SNSMTENT LIMk!GS6T ueGeupy

¢m.10 edgLd 2,00,000 1,00,000 Genggimer  2,00,000 1,20,000
Glung) sy 50,000 30,000 epseShisen:

6UML HLL S.Ltd v
HEWIGE) 30,000 20,000 6,000 uri@aen75,000

10% &L_eugglrnl,00,000 50,000

sLefbCany 50,000 20,000

4,30,000 2,20,000 4,30,000  2,20,000

31.12.2005 b geim Gsn@ssiul L @muy Heveos

GDILenu swiny ClFuwis.

11 AFN-1363




18.

Ram runs a chemist shop. His net assets on 31st
December 2004 amount to Rs. 20,00,000. After paying
a rent of Rs. 20,000 a year and salary of Rs. 20,000 to
chemist, he earns a profit of Rs. 1,50,000. His landlord,
who happens to be an expert chemist, is interested in
purchasing the shop 12% is considered to be a
reasonable return on capital employed. What can Ram

expect as payment for goodwill ?

T 6T6sTLIONT (H TEFTWe HewLenw BLSF eumImy.
31.12.2004. ojenim SeumenLw Hlar Qensg sen .
20,00,000 915 @®HHS3H. euTens ep. 20,000 wHM|D
guend eh. 20,000 Car(hss KnE Sjeu@henL_W 60MLILD
. 1,50,000. sjeummenw Hleo 2 flewwwneny enaenGe
reTwest QFnled mesiE emueud Glupm SHLULGTe,
SlUHEHLW HemLenw aukis edlHUEDT. (PpHeS14nE
eu@wresd 12 % swurdlss QuUED. HS SHOL&SE

BHGILIWLITTS, B eTeueusTe| ClGTeng 1S TLMTSHS (Plgu|b ?
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Section C (2x16=32)

Answer any two questions.

19. Prepare a Revenue Account for Fire Business from the

following details for the year 2006.

Rs.
Reserve for unexpired risk on 1.1.2006 @ 50% 1,80,000
Additional reserve 36,000

Estimated liability for claims intimated on1.1.2006 31,000

on31.12.2006 42,000

Claims paid 3,65,000
Legal expenses 6,000
Reinsurance recoveries 32,000
Medical expenses 4,000
Bad debts 800

13 AFN-1363




Rs.

Premiums recovered 4,86,000
Premium on re-insurance accepted 32,000
Premiums on re-insurance ceded 43,000
Commission on direct business 48,600
Commission on re-insurance accepted 1,600
Commission on reinsurance ceded 2,150
Expenses of management 90,000
Interest, dividend and rent 24,000
Profit on sale of investments 3,000

Create reserve on 31.12.2006 to the same extent as

1.1.2006.
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Wemeu@pd eNurmiseflel B, 2006-1b oy 6v01(H &8 mewt

QUHEUMIS HETTHES SWTT OlFIs.

1.1.2006 gjet1m) sTevTEUS] 2 &HNS @ famiy (50%) 1,80,000,
g Hev ariy 36,000, 1.1.2006 b genmy Gard UL
(Bmsﬁb‘rlq.u_l Canyevsem ep. 31,000, 31.12.2006 b é{si)‘r@j

QaruL Ceuemrqw Gsmrevssr em. 42,000.

Canrevsst Glee)sHlwg - . 3,65,000, &L Claeveayser
eh. 6,000. wn &TUSCH epeod GuDME em. 32,000
HSSHeu OFeve|sst eh. 4,000 eugnd sLewr - eh. 800.
(peveuob GlupLiLLL g eh. 4,86,000 wn sTSH epeod
QupliulL penesow eh. 32,000 wry sTUS6H eweod
BewriSlw (pewevtiow em. 43,000 Crrig euenflaglen ewpeold
sile| - em. 48,600, wmy s1SH epeod QUPLILL L sLfley
- eb. 1,600. b srUS@H epeod QevmSw sley - em.
2,150, Gweonewrenins GClgeveysst - eh. 90,000, eulig
LUBISTSWID WOMID eurfensd h. 24,000 ps5ef(

Apuenesulled HewL_gg eomuid em. 3,000.

1.1.2006 genim gpuUBSSUILLL HCFH emey &HTLL

31.12.2006 3y651m)| 2 (HeUTESS.
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20. Dawn Electricity Ltd earned a profit of Rs. 26,95,000
during the year ended March 31, 2004, after debenture
interest 14 % on Rs.5,00,000. With help of the figures

given below, show the Disposal of Profits.

Rs.
Original cost of Fixed Assets 2,00,00,000
Formation and other expenses 10,00,000
Monthly average of current assets (net) 50,00,000
Reserve Fund (represented by
8 % govt. securities) 20,00,000
Contingencies Reserve Investments 5,00,000
Loan from Electricity Board 30,00,000
Total depreciation written off to date 40,00,000
Tariffs and Dividends control Reserve 1,00,000
Security Deposit received from customers 4,00,000

Assume the bank rate as 10 %.
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Lrest eTeosHL g flfi g eNNGIL 1L, 31.3.2004 estmy)
sLeUSSH T eullq 14 % ep. 500,000 Glee)sHlw ey
eh. 26,95,000 eomuid FrLllquig). LSlesteu(hd $85616056m6T8

Qanevw(h), eoruGeng LS THGer].

€.
Blemeo Q&ng g saefles 2_swsTemio iL_&aLD 2,00,00,000
2 (HeUN&&L WHNID BFT ClFeve|s6r 10,00,000

BLLULE Qengg e wighdlr rrefl (Hlar) 50,00,000

sy Bl ( 8 % remmhs LSS TriGeT) 20,00,000
Bsr sy (s B seT 5,00,000
Wlesrgny eunflwgS O (pHg &L_est 30,00,000

SHOILTLPE eueny sTpsLILILL Glrgg Gsuiwrennd0,00,000
euffl LOHMID LRISTSW S KLU SriL 1,00,000
eunmgsengwmen O hkbg GlupLLL L

UM &L eneuLliL] Clsnena 4,00,000

eumdl eddlgw 10 % 616w 2arabd ClFwIs.
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21. From the following Balance Sheet and information

given below, prepare a Consolidated Balance Sheet :

Liabilities HLtd SLtd Assets HILtd SLtd

Rs. Rs. Rs. Rs.
Share capital Sundry Assets 80,000 12,000
Rs.10 per share Stock in trade 61,000 24,000
fully paid 1,00,000 20,000 Debtors 13,000 17,000
Reserves 10,000 6,000 Bills Receivable 1,000 —

Profit and Loss 40,000 12,000 Shares in S Ltd

Creditors 20,000 12,000 1500 shares of
Bills Payable — 3,000 Rs. 10 each 15,000 —
1,70,000 53,000 1,70,000 53,000

Additional Information :

(1) All the profits of S Ltd have been earned since the
shares were acquired by H Ltd but the reserve of

Rs. 6,000 was already there at the time.

(i) Bills accepted by S Ltd are all in favour of H Ltd
which was discounted for Rs. 2,000.
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(ii1)) Sundary assets of S Ltd are undervalued by

Rs. 2,000.

(iv) The stock in trade to H Ltd includes Rs. 5000
bought from S Litd at a profit to the latter of 25 %

on cost.

Wemeu@mw @@Ly Klewevs @Gmlliysefled mhgiw, SCw
Qarssuul_(erem elurmiseflefhg, CFM@GHSHLILILL

By flenev @MlLiSener swny Cl&uwis.

GlurmyLiLger HLtd SLtd Gensgesen HILtd SLtd

Rs. Rs. Rs. Rs.
LImIE) (&6 ¢m. 10 ueveuens tletsgsam80,000 12,000
@muri@eisn  1,00,000 20,000 ersdmiy 61,000 24,000
(W(eugILD OlEa)ISSLg) sL_evmerllg6r 13,000 17,000
SLILG6T 10,000 6,000 QumsHEw

wIHNE F_[H 1,000 —
oML BLL semdh@ 40,000 12,000 S Ltd v uri@sen
SLTHGS] 20,000 12,000 1500 uri@aen
ClFens8 sn@Efw ¢h. 10 efgid 15,000 —
wIHNE F_[H — 3,000

1,70,000 53,000 1,70,000 53,000
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(D60 eNLITRIGET :

@)

(i1)

(iii)

(iv)

S Ltd evt eomuid (ppeugind, H Ltd uki@sst eurmdlw
Yeot sbUTSSS. ypevmeo sl em. 6,000 H Ltd

LIRS 6T 6U Bl &HeuSn @& (PerrGL Q\(HHSS) .

S Ltd -6t Qeeni58150@&flw wiHnis O (ppausgin
H Ltd-ssrs epmis GamememiulLg)l. dlev em.
2,000 wdlulleonesr wromE FLO sley

QEwnwinl L g.

S Ltd eor usveuems Qenggisen em. 2,000 wSliiLy

&Onhg BlFesrwibd GleFwuiiul L g).

H Ltd esr greadmLfeo em. 5,000 wdlliyeremene
S Ltd @b @mbg eurmsiulL g. e 20%
565D L &5 alleneoulled eorud HliFewrwid

QEwnwinl L g.
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22. 'The Balance Sheet ABC Ltd as on 31st March 2004

was as follows :

Liabilities Rs.  Assets Rs.
Equity shares (Rs. 10) 5,00,000  Good will 1,00,000
General Reserve 2,50,000 Equipment at cost 9,00,000
Profit and Loss account 1,00,000  Stock 3,50,000
12% Debentures 3,00,000  Debtors 1,50,000
Provision for Depreciation Bank 75,000
on equipment 1,50,000 Advertisement suspense a/c 25,000

Staff Welfare Fund 40,000

Proposed Dividend 75,000

Sundry Creditors 1,85,000
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You are required to calculate the value of each share

under assets basis. The following further information

is available :

@)

(i1)

(iii)

(iv)

v)

(vi)

(vii)

A fair after - tax return on capital employed for

this type business is 18 %.

Equipment is to be revalued at Rs. 8,00,000.

Stocks are considered to have a net realizable

value of Rs. 3,30,000.

Goodwill in this type of business in normally

valued at three years super profits.

Included in the debtors is a balance of Rs. 10,000

which may prove irrecoverable.

Profits for the last three years (before interest and
taxes) are : 2003 — 04 — Rs. 5,40,000 ; 2002 — 03
Rs. 5,10,000 ; 2001 — 02 — Rs. 5,50,000.

Company profits are taxed at 40 %.
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31.12.2004 e ABC Ltd eor @@Ly Hlenevs @il

LSlesT 6u(BLOMM) :
GlurmyLiLger th.  Olanggser ¢t
angmewT ki@, (pged (0510 5,00,000  mHGLw 1,00,000
Cungs sy 2,50,000  Quikglnd (S1sselemeouied) 9,00,000
LI HL_L & &6WT& ) 1,00,000  &radlmiy 3,50,000
12% &1_6m LgTid 3,00,000  sLevmeflaen 1,50,000
BundlrgSlen Bamen oumd) @iy 75,000

Caliomer &S50 1,50,000  eMembLiy evmingg) semis@ 25,000
uewflwreny meo Hl) 40,000
ursrgiw B8 esad® 75,000

Qs sLevltCay 1,85,000

Speumbd elurmsele)mbs ABC Ltd-es sngnyesr

uridlest wdllienu sevor(HLily.
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@)

(i1)

(iii)

(iv)

V)

(vi)

(vii)

Beualwrumysdlest ElwMWDTEST FTSTTESRT 61 (HEUM

18 %.
Bukglrsdles iSO osrens en. 8,00,000.
gradlmulles @mid wdiy em. 3,30,000.

Fngnrenions Qengll Glumerm el wimuimye &led
BOHOILIWT epenm e Clarsmwpgeo Sl Georw
SlglinenL_ullev sewtadl L LiLIQS ng).

sLenneflaen Glwrsgs @mLller er. 10,000 Hmbu
Cup Quieons sLenS ).

SLhS epeTnl e eomud esmeuhonm (eulig

LOHMID 6UFlSEHSE) (PESTEUISNS 266N 60MLILD)

2003 — 04 — Rs. 5,40,000 ; 2002 — 03 Rs. 5,10,000
2001 - 02 — Rs. 5,50,000.

Blmiw eomumigst 40 % euflefdlsas LS esment.

skkok

24 AFN-1363




AFN- 1364 BCO0632

B.Com. DEGREE EXAMINATION, APRIL 2011

Sixth Semester
Commerce
INDUSTRIAL LAW

(Non CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

Section A (8x4 =32)

Answer any eight questions.

1. State the provisions of Factories Act relating to

working hours of Adults.

auwg eaunGsrissrer Ceuemed GCmrw wumslw

Qarfiparenes #LL gHest eddlaenen 5@mHs.

2.  What are the privileges of a registered trade union ?

udley Qupm Csrfipsrsmtseailen seaflls ssnbSlrmisen

wmremey ?



Lock-out is employer’s Weapon. Do you agree ?

“ Qamfpareneveni e (Higev sTesiLIg) (pgevnerfluilest s medl”
BQens B apmIs GlamenHlpmui.

Define ‘ Personal injury ’.

Fesfl BUT STWLD B)60SHSH6WID F(HS.
What is  Adolescent ’ ?

‘QMwml Liheu BUT eTesTmmey 6T6sTEN ?

What are the safeguards in payment of minimum

wages ?

GODHS LILF dmeSlenw GlFe)saeudlevismsm LITgsmL

CUEBEITILIMBIGET Wmeneu ?

What is provident fund ?

Cawmev HF) etesmME 6T6vTON ?
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10.

11.

Define ‘ Basic wages’.

IgLILIML F0.60 —QEVESHEWID G(HS.

Write a note on Employees Insurance Court.

Qamfleonsty sl B wempsengL upn fAmy @GnlLiy

6LI6MIS.

Explain the term ‘ Family ’ under the Payment of

Gratuity Act. 1972.

Cleu@ s ClgTens aupmISeD FLL LiLilg ‘ @& HIDULD ~ 6T68Tn

Clamevemey ellemna@s.
What are the categories of employees not covered
under the payment of Bonus ?

Coerdlubd apri@eag 6hoSHS 2emLhlulfs e @ L
Qurmnstg ?
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12.

13.

14.

What is Gratuity ?

L6l &0l&Tem L 6T6s1mm6D 6T6BTENT ?

Section B (3x12=36)

Answer any three questions.

Explain the procedure for fixing of minimum wages.

GoOnhs ULEF &meSleww Hlyewrwid  Glawiuywd

BeoL(peormenw edleull.

How are the contributions under the Employees

Provident Fund Act 1952, protected ?

Qgrfleoneny Cew meo HHss_L1b 1952 e Uy
QessiuLl L AF-Y Y- 676 61 )]
ungsrsslu@Sng ?
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15.

16.

17.

Explain the general provisions of E.S.I. Act regarding
benefits.

vwerur(&eT @GNS ra sTUSLHEF FlLGdles

Clungleunest Fr&5gSHaener 6Xl6ns@s.

What are the special provisions of the Payment of

Bonus Act, 1965 in respect of new establishments ?

HSw Bimieuengdleo Goepmdluib eulpmi@eug G\GT_FLmes

oy sl eldlaer wreneu ?

What the rules relating to nomination by an

employee under the Payment of Gratuity Act, 1972 ?

uenflsGlaEmenL eulpmi@ FLL b, 1972 evTLilg e(h 2emilwiy
seng eunflagrrenr Hlwiblliug CETLfumenr &Ll

eNdla6m wneneu ?
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18.

19.

Can gratuity, payable to an employee under the
Payment of Gratuity Act, 1972 be attached in

execution of any decree of a court ?

uenflaClarenL eupmi@ &L 1b, 1972 esulg @
oar Nl ui(h&H @ UPMISLILIL S Fnlquwl Lienflablaren_enw

esTm STLILS6T PLPEVLD HEWETSHS (LpIg.U|LON .
1y Y (Cy

Section C (2x16=32)

Answer any two questions.

State the provisions of the Factories Act, 1948 with

regard to leave with wages.

amellyLes (LY eIpm@Geaug &FOWHFHLULULL

Qarfiperenes L b 1948 & elflaenen &(hHs.
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20.

21.

22.

Briefly explain the provisions relating to dissolution

of a trade union under the Trade Union Act, 1926.

Qarfinerisnsemet smeliLg GgrLjumer,

Qanfimemis gL 1db 19266 Ligwine eXldlaenem elens@s.

Discuss the procedure and powers of Authorities under

Industrial Disputes Act, 1947.

Qarflnp sarmmiser &L, 1947enug sy

SiemwLiLest BewL(penm LHMID 2_FlenaensT 6Xl6ms @ s.

Describe the nature and scope of Workmen’s

Compensation Act, 1923.

Rz mpleomeny S (HI&F FLL1b, 1923 651 Hestemio LMHMILD

LITLIL 6T606m6Vem W 61618 5.

skkok
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AFN- 1365 BCO633

B.Com. DEGREE EXAMINATION, APRIL 2011

Sixth Semester

Commerce

PRACTICAL AUDITING

(Non CBCS—2004 onwards)
Time : 3 Hours Maximum : 100 Marks

Section A (8x4 =32)

Answer any eight questions out of twelve.

1. What do you mean by Government Audit ?

AT&S Fenflaens Ll £ leug wing ?

2. What is Fraud ? What are the ways of Committing

Fraud ?

Cuneg stestmmed et6vtest ? Gonglg ClawwiLID eulplger

wmremey ?



What is an “Audit Programme” ?

Fenlleenas HLL b 6T6s1mme0 6T6vTEN ?

Distinguish between Internal Control and Internal

Check.

&5 OUUT® LHDID H&EETTUE| B rewTenL b

Camu® 5z15.

What is voucher ? Give examples.

EnesIMIFEL_ (D) 6T6TTMTED 6T6BT6N ? 2 G TT6VITIEISH 6T &(1Hd:.

What are the objectives of Vouching ?

gnestmmiellent CrTs&mIgeT wneneu ?

How will you verify Plant and Machinery ?

QarAneum wHmw QuibSrrisenst 6T6ueurm

sflurFlumd ?
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10.

11.

12.

What is meant by Valuation of assets and Liabilities ?

QEnggsaer HMIL ClummILILGsee WSLLT(H ClFIIg5e0

6T6UTMIT6V 6T6VTENT ?

What is Clean Report of an auditor ?

Fenflsemsw flesr euemruenpPWOD JNSEHSE 6T65TMH M6V

6T66T60T ?

What do you mean by Liabilities for Negligence ?

seueniflestenwsanes GlummiLissst upsdl B oBleug

wrg ?

What are the qualifications of an auditor ?

senflsensw fles s@dlsem wremeu ?

Write note on : Patents ; Copy right ; Trade Mark.

dAn@oluy euemrs : sruyfleow; wdlyflen;
cuenflas @GN ?
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Section B (3x12=36)

Answer any three questions out of six.

13. How to detect errors ?

ewwasemen sTeueunm) sesor(ligLliLig) ?

14. Explain the procedure for conducting audit of

partnership firms.

Fnl_L_MevsTenlo Genflgsena Gleiuybd (pepneni 6565 @ s.

15. Explain the Internal Check system to be followed for

“purchases ”.

QareT (a6 BL AU EmEHGTW BFFTTLEY (PeODHEDW

eNlens @ s.

16. How will you Vouch the Sales Book ?

elmLIene eJL_emL_ sTeuaumm) Fnestpmile| Clawiaimi ?
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17.

18.

19.

20.

What are the duties of an auditor in connection with

the valuation of assets ?

Renggsaemen LS LUTH CFwLwb Curg gewllsengw fles

SL_60LDS6IT Wmeneu ?

Explain the Criminal Liabilities of an Auditor ?

senflsensw flest @GDoelwed GQurmiiiLsaensT edleufl.

Section C (2x16=32)

Answer any two questions out of four.

Distinguish between Auditing and Investigation.

Fenflsens OHMID Levenmiie|—CanL(H S55is.

Write notes on : Audit Note Book ; Working Paper.

Gnly eemrs :  geflsemns GHUuGu®
QFWI(PenDSH ST 6.

5 AFN-1365




21.

22.

How will you vouch receipts side of the Cash Book ?

Qrmss L1601 ClLMISED LGS enw sTeueunm| FTesTnHmile,]

Qeweumus ?

Explain different types of Audit Report.

senflsens g Pleemnaullen LeoGaun aimasemner 6Xl6nd@s.

skkok
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AFN-1366 BCOGE1/BCC6E1

B.Com./B.Com. (C.A.) DEGREE EXAMINATION
APRIL 2011

Sixth Semester

MANAGEMENT ACCOUNTING

(Non-CBCS—2004 onwards)
[Common for B.Com./B.Com. (C.A.)]

Time : 3 Hours Maximum : 100 Marks

Section A (8 x4 =32)

Answer any eight questions.

1. What are the objectives of Management Accounting ?

Cuevresurenio sesvddlwied ot CHIssmIS6T wWreneu ?

2. Explain the special features of Cost Accounting.

L& sewisdlwedlest SmiiL QuieoLsenst a6 @s.

3. What is meant by analysis and interpretation of
financial statements ?

58 Blewev Pflsemaemw g uia) ClFLS WOHMID WIHN
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What do you mean by solvency ratios ?

SL_68T (Lp(LpeUemSU|LD ST6 SHTemIld 6SlSLd eT6sTMTE 6T6BTES ?

What are the advantages of fund flow statement ?

Bl& B L gnfl&enaullen BeremLnge wneneu ?

What is cash flow statement ? List out its merits.

Qrrés BLLILL N&EHS 6T6IIMT6L 6TevTent ? )& 60

HESTEDLO&EN6N LIL_1g U165 (hs.

What do you mean by budget manual ?

aurey ClFeve] Sl LI 1qu160 6T6mTMT6L 6T6BTENT ?

Define Budgetary control. What are the requirements

of a good budgetary control ?

aure|, GlFeve SL & sL_(HLLrH—euenrim). (b Heev
aure| Geevey S L& s_LUuUT@ sealeumm B (H&S

Geuemst(hid ?
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10.

11.

12.

13.

How do Standard costs differ from Estimated costs ?

ST JL&EHSFHDGW, Sroreflsasiu’L JLs&s55 M@0
2_emen GeumLIT(OS6T H([Hs.

What is variance in standard costing ?

BT S|L555 61585 Wedle0 LIMILIMHIGEV 6TESTIMHN6D 6T6sT6w ?

What are the features of marginal costing ?

Bmnidflenevs ClFeve sestradlen SMLIL| HLDSHISET wiNene ?

What is meant by cost volume profit analysis ?

SIL&&D N DHLIENEIT 60MLI 4 U16 6TETDTED 6TEITENT ?
Section B (3x12=36)
Answer any three questions.
Explain the managerial uses of Management

Accounting.

Gueonesoreniy semtadlwedlen, (Wadlwwresr Coeomessremnio

vwesrur(aem unH ) efleul.
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14.

15.

From the following details find out : (a) Current assets,

(b) Current liabilities, (c) Liquid assets, (d) Stock.

Current ratio — 2.5, Liquid ratios - 1.5 , Working capital
- Rs. 3,60,000

eor eupd eSlurmisafled®mhal (1) BLLY QFnss, ()
BLUY Qumiy (8) Bienw Qensg, () rsslmuy

SpFlwen eIl

LUy eldlgbd -2.5 , Breww eldlgw- 1.5 ,BLLiy

ws6eSL® em. 3,60,000.

From the following data relating to the assets side of
the Balance Sheet of KG Ltd for the period 31st
December 2003 to 31st December 2006, you are required
to calculate the trend percentage taking 2003 as the

base year.
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Assets :

Cash

Debtors

Stoc-in-trade

Other Current Assets

Land

Building

Plant

( Rs. in thousands)

2003

100

200

300

50

400

800

1,000

2,850

2004

120

250

400

75

500

1,000

1,000

3,345

80

325

350

125

500

1,200

1,200

3,780

2005 2006

140

400

500

150

500

1,500

1,500

4,690

AFN-1366




31.12.2003 eS(mHg 31.12.2006 eueny, KG. eAGIL_L1q 601
@muyblemevs @hlulles Gerggl u@d ECup
Qar@sasliul_@ereng. SHeunnedBhbgs  HLLiL
NHlgs5ma5 sevsSHs :

(em. pullrriserflen)

Qensgibee : 2003 2004 2005 2006
Quréeid 100 120 80 140
s_emmeflaer 200 250 325 400
sradmi 300 400 350 500
81 By Qersgsst 50 75 125 150
Beotd 400 500 500 500
L igL_ib 800 1,000 1,200 1,500
Suib b 1,000 1,000 1,200 1,500
2850 3345 3,780 4,690
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16. From the following details, calculate funds from

operations :

Salaries - Rs. 5,000, Rent - Rs. 3,000, Refund of tax -
Rs. 3,000 , Profit on sale of buildings - Rs. 5,000,
Depreciation on plant - Rs. 5,000, Provision for tax -
Rs. 4,000, Loss on sale of plant - Rs. 2,000, Closing
balance of Profit and Loss account - Rs. 60,000,
Opening balance of Profit and Loss account - Rs, 25,000,
Discount on issue of debentures - Rs. 2,000, Provision
for bad debts - Rs. 1,000, Transfer to general reserve -
Rs. 1,000, Preliminary expenses written off - Rs. 3,000,
Goodwill written off - Rs. 2,000, Proposed Dividend -
Rs. 6,000, Dividend received - Rs. 5,000.

eor eu@d elurmisefled mng, Clewsour _( Hlduilenes
sesT(Hllig

gouerd en. 5,000, eurLems ep. 3,000, eufl
HewLulunmg ep. 3,000, &g 6mnLenevruiled
HlewL_gs eoruibd eh. 5,000, QuinSrsdHnasnes Csulred
eh. 5,000, eufl @&sEM eh. 4,000, Qundly ellnHuenew
BLLID eh. 2,000, eomupLl L seswsdlest @midl QL
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17.

eh. 60,000, eomuBL L & sewsdler yrou @muy
eh. 25,000, sLeor LGS Qeusflui (s siley - em. 2,000,
TS SL 6T &HSM - eh. 1,000, Clung @&SS_19NE
wrowg - @. 1,000, Csr_sas Cgeveyser em. 3,000,
UBISTGTWWD L’ L g em. 5,000.

The Sales Manager expects a sale of 54,000 units in
the next year. He gives the following information after

consulting Production Manager.

Two kinds of raw material M and N are required to
produce requiring 2 units and 3 units respectively.

Expected opening balance in the next year.

Finished product - 20,000 units. Material M - 24,000
units, Material N - 30,000 units.

Expected closing balance in the next year.

Finished product - 28,000 units. Material M - 26,000
units, Material N - 32,000 units.

Prepare a Material (quantity) Budget.
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SO lpuener QuEEGeTT HDSS e TS TCHIEESD
edlmuienest 54,000 jev@a6. 2 mLGH Goeomsr L6t eu(HLD

FHEUSEM6TS &(HS M.

SLeunmenen swnflés M wpnid N eteorn Q@ euens
ppeoiGlun@er 2 wHMID 3 evGaHeT (WenwpGw
CaemeuiL(GSmay.

SIOSS b U Gapliy :

Wwigeynm Glummer - 20,000, M- 24,000 360 @61

N- 30,000 606t

3055 aup @nig Ly :

(Wwigeydm GlLnheT - 28,000 3160@&a 61, M- 26,000 j60@S61

N- 32,000 j60@a6T

ppeols GQummer S igenes L euemewtiiL(h S

s1_(Hs.
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18. From the following data, calculate (a) Labour cost

variance, (b) Labour rate variance (c) Labour efficiency

variance.
Standard hours 50,000
Actual hours 60,000
Standard rate per hour (Rs.) 40
Actual wages (Rs.) 4,00,000

Nest euBd Faeusoseafled(Bhg, (2) el L ss elened
wrmur@®, (b) #n.68 elg wrmLIT®H (¢) #n.68 Flmewt wIMILIT@H

Blemeowimest wemflasr - 50,000

o euoTemLDWINesT Wevsflagem - 60,000

Blemeowimen eSs1b wewfl eesTMIS @) - em. 40

2_ewvTemLowlmest 60l - ep.4,00,000
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Section C (2x16=32)

Answer any two questions.

19. Balance Sheet of M/s Black and White as on 1.1.2005
and 31.12.2005 were as follows :

Balance Sheet

Liabilities : 1.1.2005 31.12.2005 Assets :  1.1.2005 31.12.2005

Rs. Rs. Rs. Rs.
Creditors 40,000 44,000 Cash 10,000 7,000
Mrs. White’s Debtors 30,000 50,000
Loan 25,000 - Stock 35,000 25,000
Loan from Machinery 80,000 55,000
P.N. Bank 40,000 50,000 Land 40,000 50,000

Capital 1,25,000  1,53,000 Building 35,000 60,000

Total 2,30,000 2,47,000 Total 2,30,000  2,47,000
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During the year machine costing Rs. 10,000(Accumulated
depreciation Rs. 3,000) was sold for Rs. 5,000. The provision
for depreciation agianst machinery as on 1.1.2005 was Rs.
25,000 and on 31.12.2005 Rs. 40,000. Net profit for the year

Rs. 45,000 amounted to Rs. 45,000.

You are required to prepare a Fund flow statement.

1.1.2005 wpmid 31.12.2005 gjenimy M/s enmns & euili
geueuflesr  @muy Hewens @iy  £Cup

Qar&sLul_(heTeng :

fouyboes Goluy

Qummiiyser: 1.1.2005 31.12.2005 Gensgser:1.1.2005 31.12.2005

sLevithGCxmy 40,000 44000 Qureswod 10,000 7,000
Mrs. euilLiqedt sLevsmerflaem 30,000 50,000
SHL_60T 25,000 - aradlmuy 35,000 25,000
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PN eurudlullesr Quidlmo 80,000 55,000

&L_68T

40,000 50,000 Bleowd 40,000 50,000

wseSlh 125000 153,000 sl 35,000 60,000

20.

2,30,000 2,47,000 Total 2,30,000  2,47,000

GSOLNLL (o eriqer) sreugdlev, eh. 10,000 oiL&8
wdHlyeter Quipdrn (Qageueny CHulwmesd
sewtaEIL_ LIl L g eh. 3,000) eh. 5,000 &@ eimaLiuLL_g).
Gaiiionen @g6E@® 1.1.2005 eysimm; em. 25,000, 31.12.2005
Sienm) em. 40,000. @5 eumLsdlent Hlar eomubd er. 45,000.

B B L yflsemns swny ClFs.

Summarized below are the Income and Expenditure
forecast of G.J. Ltd. for the month of March to
August 2005.
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Sales | Purchases | Wages | Manufacture| Office | Selling
Month | (all credit)| (all credit) expenses |expenses [expenses
March| 60,000 | 36,000 9,000 4,000 2,000 4,000
April | 62,000 [ 38,000 8,000 3,000 1,500 5,000
May | 64,000 | 33,000 10,000 4500 2,500 4500
June | 58,000 [ 35,000 8,500 3,500 2,000 3,500
July 56,000 | 39,000 9,500 4,000 1,000 4500
August| 60,000 | 34,000 8,000 3,000 1,500 4500
14 AFN-1366




You are given the following future information :

(a) Plant costing Rs. 16,000 is due for delivery in
July 2005 payable 10% on delivery and the
balance after three months (b) Advance tax of Rs.
8,000 is payable in March and June each (c) period
of credit allowed (i) by suppliers 2 months,
(i1) to customers 1 month, (d) Lag in payment of
manufacturing expenses %2 month (e) Lag in

payment of all other expenses 1 month.

You are required to prepare a Cash Budget for
3 months starting on 1st May 2005 when there

was a cash balance of Rs. 8,000.

G.J .06 -611 6urey ClFevey Ml&ens W& 2005 (Lpgev

@6l 2005 1b oy6u81(H eueny 6L GlamDGaLLL_(Demeng :
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s ([ednuemer LareTpsen | @msd 2 UGS |Sieveuess |elnLienes
(616000LD | Sj6mEMEILD Oleeveyaen |Qgsveayaer |OlFeoeyse
gLen) | &Lew)
wrig | 60,000 | 36,000 9,000 4,000 2,000 4,000
gured | 62,000 | 38,000 8,000 3,000 1,500 5,000
Guw 64,000 | 33,000 10,000 4,500 2,500 4,500
agm | 58,000 | 35,000 8,500 3,500 2,000 3,500
arogmev | 56,000 | 39,000 9,500 4,000 1,000 4,500
el 60,000 | 34,000 8,000 3,000 1,500 4,500

(D60 NLITRIGET :

(a) em. 16,000 wélliysten QuinSrn g ened 2005-60
NfCwrdlaasliLGn Curg 10% sseigwwb, S Cgrens
31055 ewerm wrsrseafley b Clee)ssLiLL. Couest(Hib.
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(b) et 6ufl em. 8,000 wT& LISSHHEVID 26wt IGSHSEVILD
Ree) sz Ceuesst(HID.

(c) sL_6tT BMEVLD :
(1) Qummer eupmweny - 2 WIFD
(i) msTCeunms@ 1 wrs.

(d) 2musSH& QFeveys6m Y2 OIFLD HMLOSLONS ClF6DISHEVMD.

(e) O ClFeVES6T R WIS FMOSIONS OlFeNIHHE0MD.
G, 2005 evim) ClFTL_RIEGW epenm g Clrrss S
SMsmaemw sensdl(Hs, Guwl, 2005 oem oL
Qrr&s emaul Ly em. 8,000,

21. A manufacturing concern which has adopted standard

costing furnishes the following information :
Standard :
Materials for 60 kg of finished products 100 kgs
Price of materials Rs. 1 per kg

Actual output 42,000 kg

Material used 56,000 kg

Cost of materials Rs. 50,400
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Calculate : (a) Material usage variance, (b) Material price
variance, (¢) Material cost variance, (d) Material Mix

variance.

@ 2-pusSSH Fineuensden sré s OLUT® iLssHelwed
et eu(pLd eleurmisenet eflaflmg :

SIwdlsslLL L g) :

60 $lGeor @mySlL1 ClumpEmSSTenT epevLiGlLImmsT 100 SGeom

epeolIQLImmeT elemev - eh. 1 .&lGeonm

2 LCWHS58) :

2 Hugdl - 42,000 £Geor

epeoL1GlLImmeT LweTL(GHSSw g em. 56,000 &lGeom

epeuLIOILIM(RET &8 edlemevern. 50,400
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sewsS (s : (a) epeolilur@sT LweTLT(D LOMD)| 560
(b) epeoli@QuN@BeT elemed MM 60
(c) epeolIQUTHET L &8 WLTDHS6D

(d) eypeolIQILINHET Heveneu LOMD)FH6E0

22. The following details are given :

Year Sales Profit
2008 32,00,000 6,00,000
2009 46,00,000 12,00,000

Calculate : (a) P/V ratio, (b) Break Even point ,
(¢) Margin of safety, (d) Profit on sales of Rs. 61,00,000
and (e) Sales needed to make a profit of Rs. 18,00,000.
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S1p& HTew)ld eSlLTmSeT STl (heTeme :

aU(HL_LD eNlmLiemevt 60TLILD

2008 32,00,000 6,00,000

2009 46,00,000 12,00,000
ses1() N1g.58 :

(a) uiseaflliy eNds0

(b) eoru BLLbHM Lysmerfl

(¢) urgiasriy ellHuenew

(d) em.61,00,000 elpLIenesTUN 60 6OMLILD

(e) em. 18,00,000 eonuiwenL_w GCHemeuwnest 6 mLienest.

skkok
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AFN- 1367 BCOG6E2/BCC6E2

B.Com./B.Com. (C.A.) DEGREE EXAMINATION
APRIL 2011

Sixth Semester

Commerce/Commerce with Computer Applications
INCOME TAX LAW AND PRACTICE—II
[Common for B.Com./B.Com. (C.A.)]

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

Section A (8 x4 =32)

Answer any eight questions.

1. Define Best Judgement Assessment ?

mevev Hluwimuiwnes euflssenfllienL euenrwm).

2. What are the difference between tax avoidance and

taxevasion ?

eufl HeNTLIL&@W eufleniIm@n 2 ememr Ceumyuim(Higer

wmremey ?




What is the permissible limit of remuneration payable

to working partners of a business firm ?

@ ewurury Bineuensdlen CeweoL@b Fol L eaflsE
Qar(hss5565 saflugdler awdlssiu@b arbL

6T68T60T ?

State time limit for payment of advance tax.

(et FnL1gCw euffl Clee)SaLiLIReugsn@Flw sreow L
61L&l ?

Discuss the jurisdiction of Assessing Officer.

au@pnereufl sewflliy yHarflulles sy eurbenuls

unml Fmy.

Explain defective return of Income.

&eomujerer aupLoreureufl Hnlsenass Lpmn) eleufl.
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10.

Under what circumstances the interest is payable or

receivable by an assessee under the Income Tax Act.

aumwreseuflg sl sdlenLlg 6HE @& LpH emevulled
au@wreralfl QFSgH LT aully CFNS5H V60T
UM CeuetsTiqU|6TENE).

How speculative losses are set off ?

2e1g; eunentle @pLiLs6T steusutml &fleal L LILOS DG

Explain Sec. 80 E in Income Tax Act.

auponen eufles L gdlest fley 80 emws Lmnil eNeufl.

What are the lossess entitled to be carry forward ?

peGennadl e1(D58 OFvens H&HF CUDHD BL L BigeT

wmremey ?
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11.

12.

13.

14.

15.

What do you mean by deduction at source ?
aumreT(eneruiley euflflig &S 6T6aTmT6V 6T6vTERT ?
What do you mean by closely held company ?
Gni$lw g iyerer BlmioLDd eTesTHTEL 6T6TTES ?

Section B (3x12=36)

Answer any three questions.

Discuss the nature of offence and punishment.

GSDOL WHMILD Fesvr_enerulen @uwisoL senet efleull.

Discuss about Advance tax and Tax deducted at

source.

(P l_lg CFasSlw eufl OHMID euHLTEST(LPeneuTUd6D
aufl ump) eSeufl.

What are the various mode of recovery of tax ?

auffl 6u@eS& @ LIvGeum) (pemmullement eleull.

4 AFN-1367




16.

17.

What are the provisions of Income Tax Act in respect

of income escaping assessment.

auflef SN mBa SLGlW eu@pwresTRSsT CGT_Funs
au@wren euflFFl L gdlev @GN Remen el fla e

wmremey ?

Mr. X’s income under the head salary is computed at
Rs. 3,60,000. The contribution to R.P.F. is Rs. 50,000.
He has paid Life Insurance premium of Rs.15,000 of a
policy of Rs. 60,000 and purchased shares of eligible
issue of capital Rs. 5,000. Compute the amount of tax
to be deducted at source during the financial year
2007-08. He has informed to the employer that there

is a loss under the head Income from house property.

On account of interest payment in relation to self-
occupied house Rs. 30,000.

Hm X'ules Fwuem eu@wrend ep 3,60,000 etewr

sesS Ll Qereng, JmdSasfleslulL al. e
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18.

19.

20.

Bdle@ seumenw umsefliy em 50,000, er 60,000
wéllyeren pujemt sTUSL OS5 HL5855@ S6ul
Qee)sSlwu (peverow er 15,000 H@HSluyenw epeogew
umiE Glarempger 2007-08 oy ewrT(hsaTes e(bHLomesa ]
Ny SSID eTeueusTe| eT6Tm) SHewTsdl(hs. GCweybd, Clemhg
2 LGwrassSmaner e g6 QFngsg Qi@ em. 30,000
eTeoim)| O\ 5 Fl5eN S gl emenmi.

U/S 139, who should sign the Income Tax Return ?

Wfley 13961 £1p euwreweufl YyMGewaaefleo wmy

80w (P55 QL Ceustsr(Hib.

Section C (2x16=32)

Answer any two questions.

Briefly discuss set off and carry farward of losses.

By rHOFUS6 HMID 6T(PSSIF ClFe6)ISH60

What is filing of return ? Explain the various types of

filing along with due date of filing.
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21.

22.

SAN&sme sLTNSH60 eTearmred erestienr ? L Coumy)
gwTHSSme0 ges Car(hss Geuswriqw CodlujLeo
aeul.

Explain the methods of collection of tax. Narrate the

procedure for collection and refund of tax.

euprealfl au@Gels@w penplumml eSleufl wHmD
au@preTalfl au@edsse, HmUistarhsser unmdlw
Qawev(pemmaememuyd eSleuifl.

A, B and C are partners of a firm with equal shares.
The profit and loss account for the year ended 31-3-07
shows a net profit of Rs. 99,750 after debiting the

following as per deed.

(1) Salary of Rs. 20,000 to A and Rs. 15,000 to B.

(i1)) Bonus to C Rs. 15,000.

(ii1)) Rs. 5,000 for interest on capital to A calculated
at 20%.
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(iv) Rs. 10,000 for rent of the business premises paid
to B.

(v) Commission of Rs. 5,000 to C.

Compute the Book profit and total income of the firm
for the A.Y. 2007-08 assuming that it is a professional

firm and all are working partners.

A, B, C epeu@mbd Foumi@enLw dnl L meflsst. 31-3-07
Wwiyw surfléslul L eoru L L & sewsdlesulg Hlar
eomud e 99,750 Gnl L MevTenid 2 L 63TLIIq&Henaull6esriilg
SpseewiL. Qewimgem UDMENeuSSILL L LSl

CunaestL eorub 2 nSLLGSSLILLL g

i) A ssren swuen er. 20,000 B sanew nbuemid

e. 15,000

(i) C sanen Gunevteiv e 15,000.

(iil)) A ullett ppevFEniSHIsHE 20% 65D euL_Lg. of 5,000.
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(iv) B &@ 0ar@ssiulL eunens er 10,000.
v) Cs@flu seaser ep, 5,000

2007 -08 euflwneset(hé@) oL L _nevstenio Hlmieuensslest
gL eomud, Qwrgs eu@wreTd gy Hlwainenns
sensdl (0. bHneaean Csameus Glgmhleo
Bimieeoletmib &L _neflasr wimeub Lewflwnbm

Fo.L_L_M6Tf &6l 6TEMILD &(HGIS.

skokok
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B.Com/B.Com. (C.A.) DEGREE EXAMINATION
APRIL 2011

Sixth Semester

Commerce/Commerce with C.A
ORGANISATIONAL BEHAVIOUR
[Common for B.Com and B.Com. (C.A.)]

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

Section A (8 x4 =32)

Answer any eight questions.

1. Whatis the need for Organizational behaviour ?

Bmieuen BL_gengules Caemeu wing ?

2. Explain the relationship between Organizational

behaviour and Human relation.

Bmieuen BL_Semss@W, wefls 2 neasE@n oo Cuiwimes

2 M6 eTevToNT ?

3. Explain the application of perception in an

organization.

Binieuengs e o nHmened weoLBSH 60 efleufl ?



Explain the merits of informal group ?

(PEODWDHD (G (LPET 63T HETTEDLDSET WITEDE ?

Explain the characteristics of group leader ?

& (P Semeveuertlen & 6w FUIRISET WTEH6 ?

Explain in detail the managerial grid .

Guevresmrenio euenral_L b LipM) eXlfleuns elend@s.

Explain the needs for communication ?

Fa6uev GlgnLjliles Caemeusmw elens@a ?

Explain the grievance procedure.

Geomemw CursEb Weomenw LHsl eSleufl ?
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9.

10.

11.

12.

What are the financial motivational factors ?

Hl& gnewst(Dsedlest snremflast wneneu ?

Distinguish between motivation and satisfaction ?

ST s D SmHLdlesEn e GCuuret Caunur®b

wrg) ?

Explain group cohesiveness.

&P @meewLUT_enL LHl elend@s.

How is Organizational climate created.

cuensSlent @LpbHlemev sTeueumm| 2 (HeunssLiLBS g ?
DieU6sTS S Dl 2@ 8l
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13.

14.

15.

Section B (83x12=36)
Answer any three questions.

Explain the various models of Organizational

Behaviour.

cuent BLGengullent LIeoBeum| euenssemer elleull.
(o]} bL-SWS oI

Explain critically the assumption underlying classical

organizational theory.

LemPW DL (PEDN FS5HEUSH T | 60)ILOMEIEISHED 6T

elleufl ?

List out personality traits and explain any two.

gevfl wesflgeuflen gesflliLiewTysener LI iqwiedl (B gCHaIbD

@ revsremnL efeufl.
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16.

17

18.

Explain the causes for industrial differences in an

organization.

cuengSlest Glgmled CeumiLIT(N&ST6sT &TIT6suTmI&6m 6T
(o]} < < oI

aeul.

What makes leadership effective.

HEVEY FHEMEEMEMIW HDENLD LI SHEUTTS 35 (ELIen6

wmremeu ?

Explain the leadership style followed by the Indian

managers. Can you suggest any one.

@nrdlwu Cuoerengsermed WerUHDHLULEDL &6w6v6em LD

auensssT Wiemel ? gGoHaIb amming B o Coongemen
QULPMEI(E).
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Section C (2x16=32)
Answer any two questions.

19. Explain the elements of communication process.

F&Heuev Clgrie euflengulleo 2 smem smyeufl g6 wreneu ?

20. Explain the Maslow needs hierarchy theory of

motivation.
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21. “The resistance to changeis a normal part of the process
in change” — Discuss what techniques would you use in

overcoming such resistance.
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22. Explain the leadership style.
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